350 Ionic Equilibrium
T Ordinary Thinking

Objective Questions

Electrical conductors, Arrhenius theory and
Ostwald's dilution law

1 Which of the following is non-electrolyte [CPMT 2001]
@ NaCl () cacl,
© CuHpOy (d) CH,COOH

2. Ammonium hydroxide is a [CPMT 1977]

(@) Strong electrolyte

(b) Weak electrolyte

(c) Both under different conditions
(d) Non-electrolyte

3. Ammonium hydroxide is a weak base because
[MP PET 2000]
(@) 1t has low vapour pressure
(b) 1t is only slightly ionized
(¢) 1tis not a hydroxide of any metal
(d) 1t has low density
4. Electrolytes when dissolved in water dissociate into their constituent

12.

ions. The degree of dissociation of an electrolyte increases with [CPMT 1974]

(@) TIncreasing concentration of the electrolyte

(b) Decreasing concentration of the electrolyte

(c) Decreasing temperature

(d) Presence of a substance yielding a common ion
5. An electrolyte [MP PMT/PET 1988; CPMT 1974/
a) Gives complex ions in solution

b) Dissolves in water to give ions

Is ionized in the solid state

(
(
(
(

c)
d) Generates ions on passing electric current

6. A monoprotic acid in 1.00 M solution is 0.01% ionised. The
dissociation constant of this acid is [BVP 2003]
() 1x107® (b) 1x107*
() 1x107° (d 107°

7. Molten sodium chloride conducts electricity due to the presence of

(@) Free electrons
(b) Free ions
(c) Free molecules

(d) Atoms of sodium and chlorine

8. An example for a strong electrolyte is [KCET 2002]
(@) Urea (b) Ammonium hydroxide
(¢) Sugar (d) Sodium acetate
9. Which one is strongest electrolyte in the following
[CPMT 1990]
(a) NacCl (b) CH;COOH
() NH,OH (d) CeH106
10. The equivalent conductance at infinite dilution of a weak acid such
as HF [Pb. PMT 1998]

a) Can be determined by measurement of very dilute HF
y Ty
solution

(b) Can be determined by extrapolation of measurements on dilute

solutions of HCI, HBr and HI

15.

20.

(c) Can best be determined from measurements on dilute solutions

of NaF, NaCl and HCI
(d) 1s an undefined quantity

If a is the degree of ionization, C the concentration of a weak
electrolyte and K, the acid ionization constant, then the correct
relationship between , C and K, is

[CET Pune 1998; Pb. PMT 1998; RPMT 2002]

2 _ Ka 2 — C

(@ o = < b) « _Ka
K, _|/C

(¢ a= < d a= _Ka

Theory of ionization was given by

[AMU 1983; DPMT 1985]
Rutherford (b) Graham
Faraday (d) Arrhenius

(a
(c

An ionizing solvent has
(@) Low value of dielectric constant
(b

(c
(d

The extent of ionization increases [MNR 1982]

)

)

n

)

) High value of dielectric constant

) A dielectric constant equal to 1

) Has a high melting point

h

a) With the increase in concentration of solute
b) On addition of excess water to solution

c) On decreasing the temperature of solution

(
(
(©)
(d) On stirring the solution vigorously
Which is generally true about ionic compounds
[Pb. PMT 2002]
a) Have low boiling point

b) Have low melting point

— o~ —~

c) Soluble in non polar solvents
(d) Conduct electricity in the fused state

At infinite dilution, the percentage ionisation for both strong and

weak electrolytes is [CPMT 1999]
(@) 1% (b) 20%
() 50% (d) 100%

The degree of ionization of a compound depends on

[MNR 1980]
a) Size of solute molecules
b) Nature of solute molecules

c) N mﬁ gf(;a/ ssel used

d) Quantlty oF electricity passed

(
(
(
(

For a weak acid HA, Ostwald's dilution law is represented by the

equation
2
aC a“C
(@) Ka (b) Ka = 1
-
2
a“C
a= d K, =
© a=i @ Ka=175
Acetic acid is a weak electrolyte because [CPMT 1974]

(@) Its molecular weight is high

It is covalent compound

—~
=51

c) 1t does not dissociate much or its ionization is very less

d

In which of the following dissociation of NH,OH will be
minimum [MP PET 2000]

(a) NaOH (b) H,O
(9 NH,CI (d) NacCl

—~

It is highly unstable
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Vant hoff factor of BaCI2 of conc. 0.01M is 1.98. Percentage
dissociation of BaCl, on this conc. Will be

[Kerala CET 2005]

(@) 49 ®) 69
(¢) 89 (d) o8
(e) 100
In which of the following solutions, ions are present
[NCERT 1981]
(@) Sucrose in water (b) Sulphurin CS,
(c) Caesium nitrate in water ~ (d) Ethanol in water
The  following  equilibrium  exists  inaqueous  solution,

CH,COOH = (:H?,COOi-FH+ if dil HC/ is added, without

change in temperature, the [UPSEAT 2000, 02]

(@) Concentration of CH3;COO™ will increase
(b) Concentration of CH3;COO™ will decrease
(¢
(

) The equilibrium constant will increase
d) The equilibrium constant will decrease

Which will not affect the degree of ionisation

32.
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[MP PMT 1994]
(@) Temperature (b) Concentration
(c) Type of solvent (d) Current
The addition of a polar solvent to a solid electrolyte results in [NCERT 1973]
(@) Polarization (b) Association
(¢) Tlonization (d) Electron transfer

solution is 0.01%. lts

The degree of dissociation of 0.1 M HCN

ionisation constant would be [RPMT 1999]
(@ 107 b 10°
(¢ 107 (@ 10°

The hydrogen ion concentration in weak acid of dissociation

constant K and concentration C is nearly equal to

[CBSE PMT 1989; RPMT 2000]

@ Kalc (b) c/K,

() Ky d) K,

Degree of dissociation of 0.1 N CH;COOH is

(Dissociation constant =1 x 107 ) [MP PET 1997]
(@) 107° (b) 107
() 1073 (d) 1072
Which of the following substance is an electrolyte
[MADT Bihar 1980]

(@) Chloroform
(b) Benzene

() Toluene

(d)

d

In weak electrolytic solution, degree of ionization

Magnesium chloride

(@) Will be proportional to dilution

(b) Will be proportional to concentration of electrolyte

() Will be proportional to the square root of dilution

(d) Will be reciprocal to the dilution

0.2 molar solution of formic acid is ionized 3.2%. Its ionization

constant is [MP PMT 1991]

() 9.6x107° (b) 2.1x107*
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() 1.25x107° (d 4.8x107°

The best conductor of electricity is a 1.0 M solution of

[NCERT 1973]
(@) Boric acid (b) Acetic acid
(c) Sulphuric acid (d) Phosphoric acid
The colour of an electrolyte solution depends on
[DPMT 1985]
(@) The nature of the anion
(b) The nature of the cation
(c) The nature of both the ions
(d) The nature of the solvent
lonisation depends upon [CPMT 2004]
(@) Pressure (b) Volume
(c) Dilution (d) None of these

The values of dissociation constants of some acids (at 25°C ) are
as follows. Indicate which is the strongest acid in water

() 1.4x107° (b) 1.6x107*
() 4.4x107° (d) 4.3x107
Concentration CN ™ in 0.1M HCN is [K, =4 x1070]
[RPET 2000]
@) 2.5x107°M (b) 4.5x107°M
() 6.3x10°M d) 9.2x10°M

Acids and Bases

Which of the following is not a Lewis acid [MP PET 2002]

(a) co (b) SiCl,
() SO, d) zn**
Review the equilibrium and choose the correct statement

HCIO, + H,0 = H,0" +CIO;
(a) HCIO, is the conjugate acid of H,O

[RPMT 2000]

(b) HZO" is the conjugate base of H,0O
(¢) H,O is the conjugate acid of H;O"
(d) CIO; is the conjugate base of HCIO,

A solution of FeCl; in water acts as acidic due to

[BVP 2003]
(@) Hydrolysis of Fe** (b) Acidic impurities
(c) Dissociation (d) lonisation
A white substance having alkaline nature in solution is

[BVP 2003]
(a) NaNO, (b) NH,CI
() Na,CO, (d) Fe,04
Which of the following can act both as Bronsted acid and Bronsted
base [MP PET 1995; MP PET/PMT 1998]
(@ CI° (b) HCO;
() HZ;0" (d OH~
Lewis acid [MP PMT 1987]

(@) Presence of H atom is necessary
(b) 1s a electron pair donor
() Always a proton donor

(d) 1s a electron pair acceptor
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For two acids A and B, pK, =1.2, pK, =2.8 respectively in

value, then which is true [Bihar MEE 1998]
(@) A and Bboth are equally acidic

(b) A s stronger than B

(c) Bis stronger than A

(d) Neither A nor Bis strong

(e) None of these

Aq. solution of sodium cyanide is [BHU 1981]
(@) Acidic (b) Amphoteric

(¢) Basic (d) Netural

Which of the following is the strongest conjugate base
[MADT Bihar 1983; CBSE PMT 1999; KCET (Med.) 2001]

(@ CI~ (b) CH,;COO~
() SO, (dy NO,
NaOH is a strong base because [ATIMS 2001]
(@) 1t gives OH ion (b) 1t can be oxidised
(¢) 1t can be easily ionised (d) Both (a) and (c)
Which one of the following can be classified as a Bronsted base
(@ NO; (b) H30"
() NHy (d) CH,;COOH
Which one of the following substance has the highest proton affinity
[AIEEE 2003]
(@ H0 (b) H,S
() NH,4 (d) PH,
Which of the following is the strongest Lewis acid
[EAMCET 1998]
(a) Bl (b) BBr
() BCly (d BFR
An aqueous solution of ammonia consists of
[MP PET 2001]
(@) H (b) OH™
() NHy (d) NHj, and OH"™
Which of the following is not a Lewis acid
[CBSE PMT 1996]
(a) BFR (b) FeCl,
(c) Sik (d) C,H,
The conjugate base of NH, is [EAMCET 1998]
(@ NH, (b) NH?*
(© NHg (d) Ng
The strength of an acid depends on its tendency to
[MP PET 1996)

(@) Accept protons (b) Donate protons

(c) Accept electrons (d) Donate electrons

Which is not a electrophile [RPET 1999]
(a) AlCL (b) BF
(c) (CH3)3C+ (d) NHj

Ammonia gas dissolves in water to give NH,OH. In this reaction
water acts as [CPMT 1990; MP PMT 1990]
(@) An acid (b) A base

(¢) Asalt (d) A conjugate base

In the equilibrium
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CH;COOH + HF = CH,COOH," +F~ [BHU 1987]

(@) F is the conjugate acid of CH;COOH

—~

b) F is the conjugate base of HF
(¢) CH3;COOH is the conjugate acid of CH;COOH 2+

(d) CHZCOOH," is the conjugate base of CH,COOH

The compound that is not a Lewis acid is [NT 1985]

(a) BR (b) AlCI,

() BeCl, (d) NH,

Which of the following dissolves in water to give a neutral solution [Bihar MAD
(@) (NH,),S0, (b) Ba(NO;),

() CrCly (d) CuSO,

Which of the following is the strongest acid [AMU 1982]

(@ H;3PO, (b) H,SO,

(c) HNE&T 2001) (d) CH,COOH

An example of a Lewis acid is
[MADT Bihar 1982; AMU 1982; MNR 1994;
RPMT 1997; KCET 2000; Orissa JEE 2005]

(a) NacCl (b) MgCl,
(c) AICI, (d) SnCl,
In the equilibrium HCIO+HO = HO+ClO,

[BHU 1981, 86]
(a) HCIO, is the conjugate acid of H,O

(b) H,O is the conjugate acid of H,O"
(c) H30" is the conjugate base of H,O

(d) CIO; is the conjugate base of HCIO,

Which of the following would be expected to form ionic solution in

water [CPMT 1976; Kurukshetra CEE 1998]
(@ CCl, (b) O
() NaBr (d) CHBr,
A solution of sodium bicarbonate in water turns

[NCERT 1971]
(@) Phenolphthalein pink (b) Methyl orange yellow

(¢) Methyl orange red (d) Blue litmus red

Accepting the definition that an acid is a proton donor, the acid in

the following reaction NH3; + H,0 — NH; + OH ™ is [Kerala (Med.) 2003]

(@ NHj (b) HT

() NHy (d) H,0

With reference to protonic acids, which of the following statements
is correct [CPMT 1990]
(@) PHj is more basic than NH,

(b) PHj is less basic than NH 4

() PHj is equally basicas NH 4

(d) PHj is amphoteric while NH 5 is basic

NH,OH is weak base because [CPMT 1979]

a) It has low vapour pressure
b) It is only slightly ionized
c) Itis not a hydroxide of metal

(
(
()

(d) 1t has low density
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HNOyj in liquid hydrogen fluoride behaves

a) As an acid
b) As a base

(
(
(c) Neither as a base nor as an acid

(d) As a base and as an acid

Aqueous solution of CuSO,.5H,0 changes blue litmus paper to

red due to [CPMT 1979; MP PMT 1989]

(@) Presence of Cu ** jons

(b) Presence of SO,  ions

(c) Hydrolysis taking place

(d) Reduction taking place

In the following reaction

HC,0, +PO, ~ = HPO, +C,0,

Which are the two Bronsted bases [MP PMT 1991]
(@ HC,0, and PO, (b) HPO,  and C,0,

(¢¢ HC,0, and HPO, = () PO,  and C,0,
Which of the following is the weakest acid [CPMT 2001]
(@) HF (b) HCI

(c) HBr d) HI

The degree of dissociation in a weak electrolyte increases
[CBSE PMT 1989; MP PMT 1997]

(@) On increasing dilution (b) On increasing pressure

(¢) On decreasing dilution (d) None of these

H isa [MADT Bihar 1983]
(@) Lewis acid (b) Lewis base

(c) Bronsted-Lowry base (d) None of the above

Dissociation of H3;PO, takes place in following steps
[CPMT 1976; NCERT 1987]

@ 1 (b) 2
(€ 3 d) 4
The aqueous solution of disodium hydrogen phosphate is
[MADT Bihar 1982]
(@) Acidic (b) Neutral
(¢) Basic (d) None

Which of the following is a conjugated acid-base pair
[MADT Bihar 1984; DPMT 2001]

(@) HCI, NaOH (b) NH,CI, NH,OH
(¢ H,SO,, HSO,” (d) KCN, HCN
The solution of strong acid and weak base (FeCl;)is
[MADT Bihar 1981; CPMT 1979, 83, 84]

(@) Acidic (b) Basic
(¢) Neutral (d) None of the above
The conjugate acid of H PO§7 is [EAMCET 1989]
(@) H3PO, (b) H3PO;
() H,PO; d) PO:~
What name is given to the reaction between hydrogen ion and
hydroxyl ion [MP PMT 1990]
(a) Hydrogenation (b) Hydroxylation
(c) Hydrolysis (d) Neutralization
Among the following, the weakest Lewis base is

[NCERT 1981]
(@ H~ (b) OH™
(¢ CI” (d) HCO;
The pKafor acid A is greater than pKa for acid B The strong
acid is [DPMT 2000]

(@) Acid B (b) Acid A
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(c) Both Aand B (d) Neither A nor B

The conjugate acid of NH is [T 1985; Roorkee 1995;

EAMCET 1997;CBSE PMT PMT 2000; MP PET 1996,2000]

(@ NHj (b) NHZ

(¢9 NH,OH (d) N,H,

Correct statement is [CPMT 1985]
(a) NH,CI gives alkaline solution in water

(b) CH3;COONa gives acidic solution in water

(¢) CH3;COOH is a weak acid

(d) NH,OH is a strong base

PK, of a weak acid is defined as [JIPMER 1999]
@ logsKs ® ook

© Tog 1 (@ tog 10~

a a

A salt 'X' is dissolved in water (pH =7), the resulting solution
becomes alkaline in nature. The salt is made of

[CPMT 1983]
(@) A strong acid and strong base
(b) A strong acid and weak base
(¢) A weak acid and weak base
(d) A weak acid and strong base

Which one is not an acid salt
(a) NaH,PO, (b) NaH,PO,
() NaH,PO, (d) None

A white substance was alkaline in solution. Which of the following

[MNR 1984]

substances could it be [CPMT 1989]
(a) Fe,04 (b) Na,CO,
() NH,CI (d) NaNO,
An aqueous solution of ammonium carbonate is
[MP PMT 1989]

(@) Weakly acidic
(c) Strongly acidic

(b) Weakly basic
(d) Neither acidic nor basic

100 mlof 0.2 M H,SO, is added to 100 ml of
0.2 M NaOH. The resulting solution will be [BHU 1996)
(@) Acidic (b) Basic
(¢) Neutral (d) Slightly basic
H3;BO; is [T Screening 2003]
(@) Monobasic and weak Lewis acid
(b) Monobasic and weak Bronsted acid
(¢) Monobasic and strong Lewis acid
(d) Tribasic and weak Bronsted acid
In the reaction SnCI2 +2ClI- —> SnCI4, Lewis acid is

[EAMCET 1987]
(a) SnCl, (b) CI°
() SnCl, (d) None of these
Lewis base is [RPMT 1997]
(@ CO, (b) SO;
() SO, (d) ROH

10 ml of 1 M H,SO, will completely neutralise
(a 10 ml of 1 M NaOH solution
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(b) 10 ml of 2 M NaOH solution
(¢ 5ml of 2 M KOH solution

(d) 5ml of 1 M Na,COj solution
Which of the following compounds are diprotic

[Pb. PMT 2000]
(@ HyPOs (b) H,S
() HCIO, (d) H3PO,
When 100 m/ of 1M NaOH solution is mixed with 10 m/ of 10 M
H,S0,, the resulting mixture will be [AMU 2002]
(@) Acidic (b) Alkaline
(¢) Neutral (d) Strongly alkaline
The PH indicators are [KCET 1996]
(@) Salts of strong acids and strong bases
(b) Salts of weak acids and weak bases
(c) Either weak acids or weak bases
(d) Either strong acids or strong bases
Which of the following is not Lewis acid
(a) BFR (b) AICI,
(c) FeCly (d) PH4

A solution of sodium acetate in water will

[BHU 1997]

[MNR 1979]
(@) Turn red litmus blue (b) Turn blue litmus red
(¢) Not effect litmus (d) Decolourises litmus

Cl ™ is the conjugate base of
[NCERT 1979; CPMT 1976; MP PET/PMT 1988]

(a) HCIO, (b) HCI

() HOCI (d) HCIO,

Which of the following behaves as both Lewis and Bronsted base

(@) BF (b) CI”

() CO (d) None of these

The conjugate acid of a strong base is a [EAMCET 1979]
(@) Strong acid (b) Weak acid

(¢) Strong base (d) Weak base

Which one is the weakest acid [DPMT 2002]
(a) HNO, (b) HCIO,

() H,SO, (d) HBr

Conjugate base of HPO;™ is [MP PMT 1995]
(@ PO; (b) H,PO,

() HsPO, (d) H4PO;

Which of the following is not Lewis acid [RPET/PMT 2002]
(a) FeCly (b) AICl,

() BCl, (d) NH;4

(i) A strong acid has a weak conjugate base
(ii) An acid is an electron pair acceptor
The above statements (i) and (ii)
(a) Correct
(b) Wrong
(c) (i) Correct and (ii) Wrong
(d) (i) Wrong and (ii) Correct
The pH is less than 7, of the solution of
[Pb. PMT 2002; MP PMT 2003]

(a) FeCly (b) NaCN
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() NaOH (d) NacCl

In the reaction |, + 17 — 137, the Lewis base is
[CPMT 1997; RPMT 2002; BCECE 2005]

@ 1 (k) I
(c) |37

The strength of an acid depends on its tendency to

(d) None of these

[UPSEAT 2001]
(@) Accept protons (b) Donate protons
(c) Accept electrons (d) Donate electrons

In Lewis acid-base theory, neutralization reaction may be considered
as [NCERT 1977]

(@) Formation of salt and water
(b) Competition for protons by acid and base
() Oxidation reduction

(d) Coordinate covalent bond formation

The salt that forms neutral solution in water is

[EAMCET 1981]
(a NH,CI (b) NacCl
() Na,CO,4 (d) K;BO,
Which of the following cannot act as a Lewis or Bronsted acid
(a) BFR (b) AICL
() SnCl, (d) CCl,
Which one of the following salts gives an acidic solution in water
(a@ CH;COONa (b) NH,CI
() NacCl (d) CHZ;COONH,
Which of the anhydrous salts when come in contact with water
turns blue [AMU 1981, 82]
(a) FeL%Rx]s)AngISRg?J (b) Copper sulphate
(¢) Zinc sulphate (d) Cobalt sulphate

The species among the following, which can act as an acid and a

base is [AIEEE 2002; KCET 2005]
(@) HSO, (b) SO;~
() HZ;0" (d) CI°
The strongest base from the following species is
[KCET 1996]

(@ NH?* (b) OH~
(9 O @ s*
Which one is Lewis acid [CPMT 1997]
(@ CI” (b) Ag’
() C,H;OH d S2°
The conjugate acid of H,PO; is [MP PET 1990]
(@ HiPO, (b) H,PO,
() PO;~ (d) H;O0"
The conjugate acid of S,05" is [EAMCET 1984]
(@) H,S,04 (b) H,SO,
(¢ HSO, (d) HS,04
In the reaction BC|3 +PH, —)C'aB —PHj;, Lewis base is

[EAMCET 1986]
(a) BCl, (b) PH;
() Cl;B—PH;4 (d) None of these
Which of the following statement is true [MP PMT 1996]
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(@) The conjugate base of a strong acid is a strong base

(b) The conjugate base of a weak acid is a strong base

(c) The conjugate base of a weak acid is a weak base

(d) The base and its conjugate acid react to form a neutral solution
What is the conjugate base of OH™
@ O, (b)
(© O @ 0
Which of the following is a Lewis base [BHU 1995]
(@ CH, (b) C,H;OH

[AIEEE 2005]
H,O

(¢) Acetone

(d) Secondary amine
[CBSE PMT 2005]
(a) HCIO < HCIO, < HCIO; < HCIO,

(b) HCIO, < HCIO < HCIO, < HCIO,
(¢) HCIO, < HCIO, < HCIO, < HCIO
(d) HCIO, < HCIO, < HCIO, < HCIO

The strongest acid is

The correct order of acid strength is

[DPMT 2000]

(a H3AsO, (b) H3AsO,
() H3PO; (d) H;PO,
Which of the following is the strongest base [Roorkee 2000]
(@) C,Hg (b) C,H;COO"
(¢ C,H;O (dy OH~
The aqueous solution of which one of the following is basic
[MP PMT 2001]
(a) HOCI (b) NaHSO,
(¢) NH,NO, (d) NaOCI
Which of the following is the weakest base [NT 1980]
(a) NaOH (b) Ca(OH),
(¢ NH,OH (d) KOH

The suitable indicator for strong acid and weak base is
[RPMT 1997; UPSEAT 2002]

(@) Methyl orange (b) Methyl red
(c) Phenol red (d) Phenolphthalein
Among the following acids, the weakest one is
[NCERT 1984]
(@) HF (b) HCI
(¢) HBr (d)y HI
The compound HC/ behaves as .. in the reaction,
HCl + HF - H,Cl + F~ [JIPMER 2001]
(@) Weak base (b) Weak acid
(c) Strong base (d) Strong acid
The conjugate base of a strong acid is a [EAMCET 1978]
(@) Strong base (b) Strong acid
(¢) Weak acid (d) Weak base
Which among the following is strongest acid [BHU 2005]
(@) HC00 ®) HC00
(¢) H(ClO)O (d) H(clo)
In the reaction 2H,0 = H30+ +OH™, wateris
[MP PET 1989]
a) A weak base
b) A weak acid

Both a weak acid and a weak base

—~ =
oL
= —

Neither an acid nor a base
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In the reaction HCl +H,0 = H,0" +CI~
[NCERT 1978; EAMCET 1982, 89]
(@) H,O is the conjugate base of HCI acid

(b) Cl™ is the conjugate base of HCI acid
(c) Cl is the conjugate acid of H,O base

(d) H307 is the conjugate base of HCI

According to Lewis concept, an acid is a substance which
[EAMCET 1981; NCERT 1981;
CPMT 1986; MP PMT 1987]
(@) Accepts protons
(b) Donates protons
(c) Accepts a lone pair of electrons
(d) Donates a lone pair of electrons

Water is a [KCET 2002]

(@) Amphoteric acid (b) Aprotic solvent

() Protophobic solvent (d) None of these

Conjugate base of NH; is [RPMT 2002]
@ NHY (b) NHY

() NHZ @ N,

Which of the following species is an acid and also a conjugate base

of another acid [NCERT 1981]
(a) HSO, (b) H,SO,
() OH™ (d) H;O"

Which of the following is Lewis acid
[NCERT 1978; EAMCET 1987; MP PET 1994;
CPMT 1990; AFMC 1997; RPMT 1999]

(@) BF b) CI°
(€ H0 (d) NHjg

According to Bronsted-Lowry concept, base is a substance which is[NCERT 1982

(@) A proton donor

(b) An electron pair acceptor
(¢) A proton acceptor

(d) An electron pair donor

Which of the following is known as hydronium ion

[NCERT 1976]
(@ HT (b) H,0"
() H30" (d) H,0;
An aqueous solution of aluminium sulphate would show

[NCERT 1977]

(@) An acidic reaction
(
(
(d) Both acidic and basic reaction

The aqueous solution of aluminium chloride is acidic due to
[MNR 1986, 88]

b) A neutral reaction

c) A basic reaction

(@) Cation hydrolysis

(b) Anion hydrolysis

() Hydrolysis of both anion and cation
(d) Dissociation

HSO, is the conjugate base of [NCERT 1977]

@ H* (b) H,SOq

(c) SOff (d) sto4

An acid is a compound which furnishes (Bronsted-Lowry concept)[EAMCET 197
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(@) An electron (b) A proton
() An electron and a proton  (d) None of the above
109.  The conjugate base of sulphuric acid is

[EAMCET 1974]
(b) Hydrochloric acid

(d) Barium hydroxide

(@) Sodium hydroxide
(c) Bisulphate jon

10.  Which is strongest Lewis base [CPMT 1994]
(@) SbH;, (b) AsH,
() PH; (d) NH,

m. According to Bronsted principle, an aqueous solution of HNO,
will contain [MP PMT/PET 1988]
@ NO, (b) NO;
() NO, (d) NO*

M2.  Aqueous solution of an acid is characterised by the presence of

[NCERT 1977]

(a) HYions (b) H; ions
() H30"ions (d) H,O"ions

n3. Ammonium jon is [RPMT 1999; KCET 2002]

(@) Neither an acid nor base (b) Both an acid and a base

(c) A conjugate acid (d) A conjugate base
N4.  Aqueous solution of AICl; is [RPMT 2002]
@) Acidic (b) Basic
(c) Amphoteric (d) None of these
5.  The species which acts as a Lewis acid but not a Bronsted acid is [MP PMT 1999; KSARRRS ¢t 56
(@ NH, (b O
(¢ BR (dy OH~
M6.  Among the following, the weakest base is [MP PMT 2002]
@ H° (b) CHj3
() CH,0" @ CI-

n7. Which of the following is not lewis base
[EAMCET 1975; RPMT 2002]

(@ NH, (b) PH,
(€ (CH3);N (d) HNj
ns8. pK, value of the strongest acid among the following is
[MP PMT 1590]
(a) 3.0 (b) 45
() 10 (d) 2.0
N9.  The most acidic compound in water is [CBSE PMT 2001]
(a) AICl, (b) BeCl,
() FeCly (d) None of these
120. BF; is used as a catalyst in several industrial processes due to its

(@) Strong reducing agent

(b) Weak reducing agent

(¢) Strong Lewis acid nature

(d) Weak Lewis acid character

121 The aqueous solution of AICL; is acidic due to the hydrolysis of

(@) Aluminium ion
(b) Chloride ion

(c) Both aluminium and chloride ion

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

(d) None of these
Which shows weak ionisation in water [MH CET 2001]
(a) H,SO, (b) NaCl
(c) HNO, (d) NH,
An organic dye, cosine used to detect end point of precipitation
titration by adsorption is called
[MH CET 1999]
(b) Adsorption indicator
(d) None of these

The indicator used in the titration of iodine against sodium

(@) Absorption indicator

() Chemical indicator

thiosulphate is [AFMC 2002]
(@) Starch (b) K;Fe(CN)g
() K,CrO, (d) Potassium

Phenolphthalein does not act as an indicator for the titration
between [Pb. PMT 2002]

(@@ NaOH and CH,;COOH
(b) H,C,0, and KMnO,
() Ba(OH), and HCI

(d) KOH and H,SO,

Which is not example of Bronsted Lowry theory
[AIEEE 2003]

(@) AICI (b)
() SO, (d)

H,SO,
HNO,

An aqueous solution of sodium carbonate is alkaline because sodium
f [MP PET 2002]
(@) Weak acid ang weak base
(b) Strong acid and weak base
(¢) Weak acid and strong base
(d) Strong acid and strong base
The acid that results when a base accepts a proton is called
[Kerala (Med.) 2002]
a) Conjugate base of the acid
b) Conjugate protonated base

(
(
() Lewis base
(d) Conjugate acid of the base
(

e) None of these

Ammonia gas dissolves in water to form NH,OH . In this reaction
[KCET (Engg./Med.) 1999]
(@) A conjugate base (b) A non-polar solvent

() An acid (d) A base

The conjugate base in the following reaction

water acts as

H,S0, +H,0 = H;O" + HSO, [DCE 1999]
(@) H,0 (b) HSO,
() HZ0" d SO,
An aquL‘éﬁ?lgomelg})’u 299 minium sulphate shows
[DPMT 2001]
(@) A basic nature
(b) An acidic nature
(¢) A neutral nature

(d) Both acidic and basic nature

NeutrafHR$EAT #00102]cid with a base invariably results in the
production of [CPMT 1983]

(@ H;0" (b) OH~
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134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

(© H,0 (d H" and OH"

The conjugate acid of HPOfiis
[MP PMT 1987, 90, 91; EAMCET 1993]
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(@ CHj; (b) F-

() NH," (d OH~

146.  The aqueous solution of CuSO, is [CPMT 1985]
_ 3_
(@ H,PO, (b) PO, (@) Acidic (b) Basic
(¢g H;PO, (d) H3PO, (¢) Neutral (d) Amphoteric
Which of the following is not used as a Lewis acid 147.  The acid having the highest pK, value among the following is
[MP PET 2000] (a) HCOOH (b) CH,COOH
(a) SnCl, (b) FeCly
() CICH,COOH (d) FCH,COOH
() Kl (d) BF 148. The indicator used in the titration of sodium carbonate with
Orthoboric acid in aqueous medium is [AMU 2000] sulphuric acid is [DPMT 2001]
(@) Monobasic (b) Dibasic (@) Phenolphthalein
(c) Tribasic (d) All are correct (b) Methyl orange
According to Lewis concept which one of the following is not a base[MP PET/PMT 1388; Plat@BTuzaofrocynide
(@) OH- (b) H,0 (d) Potassium ferricynide
149. According to Bronsted law, water is a/an
() Ag* (d) NH, [MP PET/PMT 1988]
The aqueous solution of ammonium chloride is (a) Base (b) Acid
[CPMT 1987] (¢) Acid and base both (d) Salt
(a) Ne.ut.ra] (b) Basic . 150.  Which of the following can give base OH™
(¢) Acidic (d) Amphoteric [MP PET/PMT 1988]
In th BCI; + PH; — BCl; : PH; The Lewis acid i
n the process 3 3 3 5 The Lewis acid is @) H,0 ) H,0°
[RPMT 2000]
@) PH, (b) BCl, © H, (d) HCl
(¢) Both (d) None 151.  Conjugate base of HBTr is [MP PET/PMT 1988]
The conjugate acid of NH 5 is (@) H,Br* (b) H*
BHU V. i 1999; Pb. PMT 2004
[ e ] (©) Br @ Br'
(@) NH,q (®) NH, 152.  Molar heat of neutralization of NaOH with HCI in comparison
() NyH, (d) NH,OH to that of KOH with HNOj is [MP PMT 1989]
Which halide of nitrogen is least basic [DPMT 2001] (a) Less (b) More
(a) NBry (b) NI (c) Equal (d) Depends on pressure
(¢ NCl d) NF, 153.  Which of the following is not a Lewis acid ] &K 2005]
When FeCl; gets soluble in water, then its solution represents (@) BFy (b) AlCl,
which of the characteristics [MP PET/PMT 1988] () HCI (d) LiAIH,
(@) Am'photeric (b) Acidic 154. The solvent which neither accepts proton nor donates proton is
() Basic (d) Neutral called [RPMT 2000]
Lewis aci.d are those substance.s [MP PMT 1987] (@) Amphoteric (b) Neutral
(@) Which accept electron pair (c) Aprotic (d) Amphiprotic
. . + . . .
() Wh].Ch p.rowde H |on. in the solution 155. For the reaction in aqueous solution n* + X = ZnX"*, the
(c) Which give electron pair
Keq is greatest when Xis [Pb. PMT 1998]
(d) Which accept OH " ion
The conjugate base of HCOj is (@ F (b) NOg
(@ H,CO; (b) CO3~ () clo @
156. Why are strong acids generally used as standard solutions in acid-
() CO, () H0 base titrations [Pb. PMT 1998]
In the reaction NH; +BF; = NH; — BF;, BF; is (@) The pH at the equivalence point will always be 7
[MP PMT 1989; MHCET 2001] (b) They can be used to titrate both strong and weak bases
(@) Lewis acid (c) Strong acids form more stable solutions than weak acids
(b) Lewis base (d) The salts of strong acids do not hydrolysed
() Neither Lewis acid nor Lewis base . L . .
157.  For an aqueous solution, the characteristic species of acid is
(d) Lewis acid and Lewis base both
[RPMT 1999]
The strongest Lewis base in the following

[MP PET/PMT 1988]

(a) HTion (b) H30"ion
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158.

(c) H, ion (d) H,O%ion

Which is a Lewis base [CPMT 1988; JEE Orissa 2004/
(a) B,Hg (b) LiAlIH,

(c) AlH, (d) NH,

For a weak acid, the incorrect statement is [Pb. PMT 2004]

(@) 1ts dissociation constant is low
(b) 1ts pK, is very low
(c) 1Itis partially dissociated
(d) Solution of its sodium salt is alkaline in water
Boron halides behave as Lewis acids, because of their
[CBSE PMT 1996; BHU 2004]
(@) Tlonic nature (b) Acidic nature
(c¢) Covalent nature (d) Electron deficient nature

Would gaseous HC/be considered as an Arrhenius acid

[UPSEAT 2004]
(@) Yes
(b) No
(¢) Not known
(d) Gaseous HC/ does not exist
Which one of the following is called amphoteric solvent

[UPSEAT 2004]
(@) Ammonium hydroxide (b) Chloroform
(c) Benzene (d) Water
Strongest conjugate base is [DPMT 2004]
(@ CI” (b) Br-
© F @ 1
The conjugate base of H,PO; is [AIEEE 2004]
(@ H3PO, (b) P,0s
() PO d) HPOZ
Conjugate base of HSOj is [MH CET 2004]
(@) SO, (b) H,SO,
() H3SO, (d) None of these

Common ion effect, Isohydric solutions, Solubility
product, lonic product of water and Salt hydrolysis

The expression for the solubility product of Al, (SO,), is
(@) Kg=[AF16S0;T () Kg=[AF] (SO; T
() Kg =[AF"T SO @) Kg=[AF] (SO

On addition of ammonium chloride to a solution of ammonium
hydroxide [CPMT 1976, 80, 81, 99;
NCERT 1976, 77; MP PMT 1989, 99; DPMT 1983]

(a) Dissociation of NH ,OH increases

(b) Concentration of OH ™ increases

(¢) Concentration of OH ™ decreases

(d) Concentration of NH; and OH ~increases

The solubility product of a salt having general formula MX,, in

water is : 4x107%2.
aqueous solution of the salt is

The concentration of MZ* ions in the
[AIEEE 2005]

(a) 2.0x107°M (b) 1.0x107*M
(c) 1.6x107*M d) 4.0x10°M

In a saturated solution of electrolyte, the ionic product of their
concentration are constant at constant temperature and this
constant for electrolyte is known as [CPMT 1983]
(b) Solubility product

(c) Tlonization constant (d) Dissociation constant

(@) lonic product

If the solubility product Ky, of a sparingly soluble salt MX, at

25°C is 1.0x107% , the solubility of the salt in mole /itre at this
temperature will be [RPMT 2000]

(@) 2.46x10™ (b) 1.36x107*
(c) 2.60x1077 (d 1.20x107%°
The unit of ionic product of water K, are
[UPSEAT 2001, 02]
@@ Mol?*L? (b) Mol?L?
() Mol?L? (d Mol’L™?
A solution which is 10°M each in Mn2+, Fe2+, Zn?* and

Hg?" is treated with 107°M sulphide ion. If Kep of

MnS, FeS,ZnS and HgS are 107,107,107 and 107

respectively, which one will precipitate first
[T Secreening 2003]

(a) FeS (b) MgS

() HgS (d) 2ZnS

Let the solubility of an aqueous solution of Mg(OH), be x then its
kg is [AIEEE 2002]
(@) 4x° (b) 108x°

() 27x* @ 9x

The solubility product of BaSO, at 25°C is 1.0 %107 What
would be the concentration of H,SO, necessary to precipitate
BaSO, from a solution of 0.01 M Ba?" ions

[RPMT 1999]
(@ 10°° (b) 10°°
() 107 (d) 10°°
The solubility in water of a sparingly soluble salt AB, s
1.0x10°mol I . 1ts solubility product number will be

[AIEEE 2003]

@ 4x107 (b) 4x107%

() 1x107® d) 1x107%°

The solubility of CaF, is a moles/litre. Then its solubility product
is ... [Orissa JEE 2002]
@) s? (b) 4s®

() 3s? d s°

On passing a current of HCI gas in a saturated solution of NaCl,
the solubility of NaCl
[CPMT 1989; CBSE PMT 1989]

(@) Increases (b) Decreases

NaCl decomposes

Which is the correct representation of the solubility product
constant of Ag,CrO, [NCERT 1974, 75]

(¢) Remains unchanged (d)

@ [Ag'TP[CrO;%] ®b) [AgT1[CrO;?]



20.

21.

22,

23.

(©) [2Ag*1[CrO;*] (d) [2Ag*) [CrO;7]

The solubility of CaF, is2x107* moles/litre Tts solubilily
product (Kg;) is [NCERT 1981; BHU 1983, 86;
MP PET 1992; CBSE PMT 1999]
() 2.0x107* (b) 4.0x1073
(c) 8.0x107% (d) 3.2x107™%

Solubility product of a sulphide MSis 3 x 107 and that of another

sulphide NSis 4 x 107 . 1n ammoniacal solution
[NCERT 1981]
(@) Only NS gets precipitated
(b) Only MS gets precipitated
() No sulphide precipitates
(d) Both sulphides precipitate

Which of the following salts when dissolved in water will get
hydrolysed

[MNR 1985; CPMT 1989; CBSE PMT 1989; MP PET 1999]
(a) NacCl (b) NH,CI
() KCI (d) Na,SO,
The aqueous solution of FeCl; is acidic due to

[CPMT 1972, 79, 83, 84;
MP PET/PMT 1988; RPMT 2000]

(@) Acidic impurities (b) Tlonisation

(¢) Hydrolysis (d) Dissociation
A precipitate of AQCl is formed when equal volumes of the

following are mixed. [KSp for AgCl = 10710] [KCET 2005]

(a 10™M AgNO, and 10~ M HCI
(b) 10°M AgNO, and 107°M HCI
() 107°M AgNO; and 10™* M HCI
(d) 107°M AgNO; and 10 °M HCI

The solubility of silver chromate in 0.1 M K,CrO, is

2x10moldm™. The solubility product of silver chromate will

be [MH CET 2000]
() 8x107* (b) 16x107
() 1.6x107%8 (d 16x107®8

Some salts although containing two different metallic elements give

test for only one of them in solution. Such salts are [MNR 1979]
(@) Double salts (b) Normal salts
(¢) Complex salts (d) Basic salts

KOH solution

What is the pH value of N
1000

[CPMT 1975; MNR 1986, 91; Pb. CET 2004]
@@ 107
() 2
Mohr's salt is a
(@) Normal salt (b) Acid salt
(c) Basic salt (d) Double salt

Aqueous solution of sodium acetate is

[MNR 1986]

[MNR 1978; CPMT 1971, 80, 81;
MADT Bihar 1982; MP PMT 1985;]
(b) Weakly acidic
(d) Alkaline

(@) Neutral
(c) Strongly acidic

24.

25.

26.

27.

28.

29.

30.

3

32.

33.

34.

35.
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Which is the correct alternate for hydrolysis constant of NH ,CN [CBSE PMT

W KW
@ ®

Ko Ka
(<) \/j @ 3

Which of the following salts undergoes hydrolysis
[CPMT 1972, 74, 78; DPMT 1985]

(a) CH3;COONa (b) KNO,
(¢) NaCl (d) K,SO,
What will happen if CCl, is treated with AgNO,
[DPMT 1983]

(@) A white ppt. of AGCI will form
(b) NO, will be evolved
(¢) CCl, will dissolve in AgNO,
(d) Nothing will happen

The correct representation for solubility product of SNS, is
[CPMT 1977; MP PET 1999;RPMT 2000]

(@ [sn*1[s* T ) [Sn*1s*F
() [Sn*1[25°7] () [Sn*1[28*T

A precipitate of calcium oxalate will not dissolve in
[CPMT 1971, 89; 1T 1986]

HNO,
CH,COOH

(a) HCI (b)
() Aquaregia d)

Baking soda is
(@) Basic salt

[RPMT 2000]
(b) Acidic salt
(d) Double salt

Which one of the following substances will be a mixed salt
[DPMT 1982; CPMT 1972]

(c) Complex salt

(a) NaHCO,

(b) Ca(OCI)Cl

© K,SO, Al,(SO,);.24H,0
(d) Mg(OH)Br

Solubility product of BaCl, is 4x107°. 1ts solubility in

moles/litre would be
[AFMC 1982; Roorkee 1990; BHU 2000]

() 1x1073 (b) 1x107°

() 4x107¥ d) 1x107%
Which hydroxide will have lowest value of solubility product at

[T 1990; RPMT 1997]
Ca(OH),
Be (OH),

normal temperature (2500)
(@) Mg(OH), (b)
(¢) Ba(OH), (d)
Which will not be hydrolysed

(@) Potassium nitrate

[MP PMT 1989]

(b) Potassium cyanide
(c) Potassium succinate
(d) Potassium carbonate
Which pair will show common ion effect
[MP PMT 1990, 99; Pb. PMT 2001]

(a) BaCl, +Ba(NO,), (b) NaCl +HCI
(¢ NH,OH + NH,CI (d) AgCN + KCN
Which is least soluble in water [UPSEAT 1999]
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36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

(@) AgCl (b) AgF
(€ Agl d) AgyS
A white salt is readily soluble in water and gives a colourless
solution with a PH of about 9. The salt would be
[Pb. PMT 1998]

(@ NH,NO, (b) CH;COONa

(¢ CH3;COONH, (d) CaCOq4

If acetic acid mixed with sodium acetate, then H ™ ion concentration
will be [Roorkee 1995]
(@) Increased (b) Decreased

(c) Remains unchanged (d) pH decreased

Solubility of AgCI will be minimum in
[CBSE PMT 1995]
(@) 0.001M AgNO, (b) Pure water

() 0.01M CaCl, (d) 0.01M NaCl

In absence of formation of complex ions by the addition of a
common ion, the solubility of a given salt is [BHU 1979]

(@) Increased

(b) Decreased
(¢) Unaffected
(d) First increased and then decreased

At 298 K, the solubility product of PbCI, is 1.0 x107®. What
will be the solubility of PDOCI, in moles/litre

[MP PMT 1990; CPMT 1985, 96]
1.0x10°

4.6x107

(a) 6.3x107° (b)

() 3.0x1073 ()
Solubility product is [CET Pune 1998]
(@) The ionic product of an electrolyte in its saturated solution
(b) The product of the solubilities of the ions of the electrolyte
(¢) The product of solubilities of the salts
(d) The product of the concentration of the ions
lonic product of water increases, if
[AMU 1983; MP PET 1986; MP PET/PMT 1988;

JIPMER 2002]
(@) Pressure is reduced (b) H™is added
(¢) OH7is added (d) Temperature increases
Which one is a mixed salt [DPMT 1985]
(@) NaHSO, (b) NaKSO,
() K,Fe(CN)g (d) Mg(OH)CI

If Ky for HgSO, is 6.4 x10™°, then solubility of the salt is
[AFMC 1997; KCET 2000; CPMT 2000; JIPMER 2001]

@) 8x107° (b) 8x107°

() 6.4x107° d) 6.4x107

The solubility of BaSO, in water is 2.33x1073 gm/litre Its

solubility product will be (molecular weight of BaSO, = 233) [ANMS 19985.

(@) 1x107° (b) 1x107%

() 1x107%® (d) 1x107™%

The solubility of AgCl in 0.2 M NaCl solution (Ksp for
AgCl=1.20x1079) is [MP PET 1906]
@ 0.2M (b) 1.2x107° M

() 02x10M d) 6.0x107° M

47.

48.

49.

50.

51

52.

33.

54.

56.

The solubility of Agl in Nal solution is less than that in pure
water because [UPSEAT 2001]
(@) Agl forms complex with Na/

(b) Of common ion effect

(c) Solubility product of Ag/ is less than that of Na/

(d) The temperature of the solution decreases

The solubility product of BaSO, is 1.5 x107°. The precipitation

in a 0.01 M Ba?' solution will start, on adding H,SO, of

concentration [CPMT 1988]
@ 107°Mm (b) 10°M
€ 107'M d) 10°Mm

At 20°C, the Ag"ion concentration in a saturated solution of
Ag,CrO, is1.5x107* mole/litre At 20°C,the solubility
product of AQ,CrO, would be

[MP PET 1997; MP PMT 1999]
1.6875x107%°

1.6875x107%

(a) 3.3750x107% (b)
() 1.6875x107% ()
The solubility of PbCI, is [MP PMT 1995; DCE 1999]

@ Ky b) °JKg

K
(@) 3,/75" @) 8Ky

The solubility product of AgCl is 1.44 x10™ at100°C . The
solubility of silver chloride in boiling water may be
[MP PMT 1994; Bihar MEE 1908]

@@ 0.72x107*M (b) 1.20x1072 M

() 0.72x102 M (d) 1.20x107* M

If the solubility of a sparingly soluble salt of the type BA, (giving

three ions on dissociation of a molecule) is X moles per litre, then

its solubility product is given by [BHU 1987]
@@ x2 (b) 2x3
() 4x? ) 4x®

The solubility product of Ag,CrQO, is 32x107%. What is the

concentration of CrO, ions in that solution

[BHU 1997; DPMT 2004]

@) 2x10%m/s (b) 16x10™*m/s
() 8x10*m/s (d 8x10°%m/s
The addition of HCI will not suppress the ionization of
[MP PET 1993]
(@) Acetic acid (b) Benzoic acid
() H,S (d) Sulphuric acid

. . .. 2—.
On the addition of a solution containing CrO," ions to the

solution of Ba®*, Sr?* and Ca®"ions, the precipitate obtained

first will be of [MP PMT 1993]
(a) CaCrO, (b) SrCrO,
(c) BaCrQ, (d) Mixture of (a), (b), (c)

The solubility product of a sparingly soluble salt AB at room

temperature is 1.21 x 1078 . Its molar solubility is
[CPMT 1987; MP PET 2001]

@) 1.21x107° (b) 1.21x107°
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58.

59.

60.

61.

62.

63.

64.

65.

() 1.1x107* (d 1.1x107°
The precipitation occurs if ionic concentration is
[AFMC 1995; ] & K 2005]

Y
~

Less than solubility product

fonl
~

More than solubility product

g)

oL
=

Equal to solubility product
None of these

—~ e~

If S and K, are respectively solubility and solubility product of a
sparingly soluble binary electrolyte, then
[CPMT 1988; MP PMT 1999]

(b) S=Kg

1
© S=yKg @) S=2Kg

Any precipitate is formed when
[ATIMS 1982; DPMT 1985; KCET 1999; MP PMT 2004 ]
(@) Solution becomes saturated

(b) The value of ionic product is less that than the value of
solubility product

(c) The value of ionic product is equal than the value of solubility
product

(d) The value of ionic product is greater than the value of
solubility product

The solubility product of AQCI is 4.0x107% at 298 K. The
solubility of AQClin 0.04 m CaCl, will be

[KCET 1996]
@ 2.0x10°m (b) 1.0x10*m
() 5.0x107°m (d 2.2x107*m
Hydrolysis of sodium acetate will give [MNR 1978]
(@) Acidic solution (b) Basic solution

(¢) Neutral solution (d) Normal solution

If the solubility product of BaSO,is 1.5x 10%n water, its
solubility in moles per litre, is
[BHU 1995; MP PET 1995; UPSEAT 204]

() 1.5x107° (b) 3.9x107°
() 7.5x107° (d 1.5x107
On passing H,S gas through a highly acidic solution containing

Cd %" ions, CdS is not precipitated because

(@) Of common ion effect

(b) The solubility of CdS is low
(c) Cd 2" jons do not form complex with H,S

(d) The solubility product of CdS is low
Which of the following will occur if a 0.1 M solution of a weak acid
is diluted to 0.01M at constant temperature

[UPSEAT 2001, 02]

(@) [H*] will decrease to 0.01 M

(b) pH will decrease

(c) Percentage ionization will increase
(d) K, will increase

If solubility of calcium hydroxide is \/g, then its solubility product

will be [MH CET 2002]
@ 27 (b) 3
© o d 12V3
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When NH 4C| is added to NH,OH solution, the dissociation of
ammonium hydroxide is reduced. It is due to

[MP PMT 1993]
(@) Common ion effect (b) Hydrolysis
(c) Oxidation (d) Reduction
At 298 K, the solubility of PbC|2 is 2x1072 mol/lit, then ksp =

[RPMT 2002]

@ 1x107 (b) 3.2x1077
() 1x107° (d) 3.2x107°
The solubility product of silver sulphide is 3.2 x10

at the experimental temperature is

s solubility
(a) 2x 107 moles per litre

(b)

(©) 1.2x107° moles per litre

(d) 8x 107 moles per litre

The solubility of CaCOj in water is 3.05 x 10™*moles/litre 1ts

6 x107% moles per litre

solubility product will be [MP PMT 1997]
(a) 3.05x107* (b) 10
() 6.1x107* (d 9.3x10°°

Solubility of BaF, in a solution Ba(NOj), will be represents by
the concentration term
[UPSEAT 2001, 02; CPMT 2002]

(@) [Ba™] b) [F]

© %[F*] @ 2[NO;]

The solubility of PbCl, at 25°C is 6.3 x107% mole/itre. Its
solubility product at that temperature is
[NCERT 1979; CPMT 1985]

a) (6.3x107°)x(6.3x107%)
b) (6.3x107°)x(12.6x107°)
o) (6.3x107%)x(12.6x107%)?

d) (12.6x1073)x(12.6 x107%)
Which of the following cannot be hydrolysed

— o~ o~ o~

[MP PMT 1996]
(@) A salt of weak acid and strong base
(b) A salt of strong acid and weak base
(c) A salt of weak acid and weak base
(d) A salt of strong acid and strong base
PH of water is 7. When a substance Y is dissolved in water, the

pPH becomes 13. The substance Y is a salt of

[MP PMT 1997]
(a) Strong acid and strong base
(b) Weak acid and weak base
(¢) Strong acid and weak base
(d) Weak acid and strong base
Which is a basic salt [MP PMT 1985]
(a) PbS (b) PbCO,
() PDbSO, (d) 2PbCO,;.Pb(OH),

The saturated solution of Ag,SO, is 2.5 x1072 M. Its solubility

product (Ksp) is [NCERT 1980]
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76.

77.

78.

79.

80.

8.

82.

83.

84.

(a) 62.5x107° (b) 6.25x107*

() 15.625x10° (d) 3.125x10°

Ksp for sodium chloride is 36 mol? /litré. The solubility of

sodium chloride is [BHU 1981]
1 1
il b =

@ 36 (b) 5

() 6 (d) 3600

Sodium chloride is purified by passing hydrogen chloride gas in an

impure solution of sodium chloride. 1t is based on

[MP PMT 1996]
(@) Buffer action (b) Common ion effect
(c) Association of salt (d) Hydrolysis of salt

If the concentration of lead iodide in its saturated solution at

85.

86.

87.

25°C be 2x107 moles per litre, then its solubility product is[CPMT 1984]

@ 4x107 (b) 8x107%2
() 6x10° (d 32x10°
The precipitate of CaF, (Ky, =1.7 %1070 s obtained when

equal volumes of the following are mixed
[T 1992; UPSEAT 2000]

@@ 10*McCa® +10*MF-

(b) 102MCa?" +10°MF-

(c) Both
)

(d) None of these

In the reaction: H,S = 2H" +S™, when NH 4OH is added,
then [KCET (Med.) 1999; AFMC 2000]
(@) S is precipitate

(b) No action takes places
() Concentration of S™~ decreases
(d) Concentration of S™~ increases
What is the minimum concentration of SO 27 required to precipitate
BaSO, in a solution containing 1.0 x10*mol Ba®"? (Kgp for
BaSO, is 4x107%)

[MP PMT 2000]
2x107'M
2x107°M

(@) 4x107°Mm (b)
() 4x10°M (d)

Solubility product for salt AB, is 4 x 107 Calculate solubility [RPET 2003]

a) 1x10~3gm mol/litre
b) 1x107°gm mol/litre

¢) 1x10~*gm mol/litre

(
(
(
(d) 1x107%gm mol/litre

Solubility product of a salt AB is 1x107® in a solution in which

concentration of A is 107°M . The salt will precipitate when the
concentration of B becomes more than

[MP PET 1990; KCET 2003]
(@ 107*M (b) 107M
() 10°M d) 10°M
At equilibrium, if to a saturated solution of NaCl,HCI is passed,
NaCl gets precipitated because [RPMT 1999]
(a) HCI is a strong acid
(b) Solubility of NaCl decreases

88.

89.

90.

oL

92.

93.

94.

95.

(¢c) lonic product of NaCl becomes greater than its Kg,
(d) HCI is a weak acid

The solubility product of BaSO, is 1.3 %107°. The solubility of
[MP PET 2002]

1.69x10 ¥ mol litre!

this salt in pure water will be
() 1.69x10°mollitre*  (b)
() 3.6x108mollitre*  (d)

The solubility product of AQCl under standard conditions of
[Kerala (Med.) 2003]

3.6 x10°mol litre?

temperature is given by
() 1.6x107 (b) 1.5x107®
() 3.2x107% (d 1.5x107%°
An aqueous solution of CH;COONa will be

[MP PET 2001]
(@) Acidic (b) Alkaline
(¢) Neutral (d) None of these
In which of the following salt hydrolysis takes place
[CPMT 1974, 78]

(a) KClI (b) NaNO,
() CH;COOK d) K,SO,
At 90°C pure water has [H;0*]=10"° M, the value of K,, at

this temperature will be
[T 1981; MNR 1990; CBSE PMT 1993; UPSEAT 1999]

(@) 107° (b) 10722

(¢ 10™ d) 107

Solubility of MX, type electrolyte is 0.5 x10™*moleflitre. The
value of Ky, of the electrolyte is [CBSE PMT 2002]
@) 5x107% (b) 25x107%°

() 1.25x107% (d 5x10%

According to the reaction PBCl, = Pb? +2CI™, the solubility
coefficient of PbCI, is [MP PET/PMT 1988]
(@ [PP*][CITP (b) [Pb*][CIT]

() [Pb*'F[CI7] (d)
Ky value of AI(OH); and Zn(OH), are
1.8x107™™ respectively. If NH,OH is added in a solution of

None of these

8.5x107% and

Al¥*and Zn%*, which will precipitate earlier
[MP PMT 1989; CPMT 1989]
Zn(OH),

None

(@) Al(OH), (b)
() Both together (d)
Why pure NaCl is precipitated when HCI gas is passed in a

saturated solution of NaCl
[NCERT 1977; MP PMT 1987; CPMT 1974, 78, 81]

(a) Impurities dissolves in HCI

(b) The value of [Na™]and [CI™] becomes smaller than Kg of
NacCl

(c) The value of [Na*]and [Cl™] becomes greater than Ky of

NaCl
(d) HCI dissolves in the water
Pure NaCl is prepared by saturating a cold saturated solution of
common salt in water with HCI gas. The principle used is
(@) Le Chatelier principle (b)
(¢) Common ion effect (d)
What is the solubility of calcium fluoride in a saturated solution, if

Displacement law
Fractional distillation

its solubility product is 3.2 x 107
[CPMT 1997]



96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

106.

12.0 x10~° mole/litre

2x107% mole/litre

(a) 2.0x107* mole/litre  (b)
() 0.2x107*mole/litre  (d)

The following equilibrium exists in an aqueous solution of hydrogen

sulphide : 107.
H,S = H" +HS~
If dilute HCI is added to an aqueous solution of H,S without
any change in temperature [NCERT 1989]
(@) The equilibrium constant will change 108
(b) The concentration of HS™ will increase
(c) The concentration of undissociated H,S will decrease
(d) The concentration of HS™ will decrease
Solubility of a salt M, X5 is y mol dm=. The solubility product
of the salt will be 109.
["T 1990, 97; AFMC 1991; RPMT 1999;
MP PET 2001; MP PMT 2003; Orissa JEE 2005]
@ 6y (b) 64y*
(c) 36y° (d) 108y°
Which one of the following is most soluble
[CBSE PMT 1994; RPMT 2000]
(@) CuS(Kgy =8x107") (b) MnS(Kg =7x107"°) -
(©) BiS3(Ky =1x107°) (d) Ag,S(Kg =6x107)
The solubility product of PbCl, at 20°C is 1.5 %1074,
Calculate the solubility [Bihar CEE 1995; BHU 2002]
() 3.75x107* (b) 3.34x1072 m.
() 3.34x102 (d) None of these
Which one of the following compounds is a Lewis acid
[EAMCET 1997]
(a) PCly (b) BCly
() NCI, (d) CHCI,
Which one of the following salt is most acidic in water n2
[T 1995] )
(@) NiCl, (b) BeCl,
(c) FeCly (d) AlCI,
Which of the following aqueous solution will have a pH less than
7.0 [MP PMT 1991, 92] 3
@ KNO, (b) NaOH '
() FeCly (d) NaCN
Hydrolysis constant for a salt of weak acid and weak base would be
S o KK "
Ka Kb
KW
() K,=—"T" (d) None of these
KaKb
Which salt will give basic solution on hydrolysis .
[RPMT 1997] >
(a KCN (b) KCI
() NH,CI (d) CH3;COONH,
Which of the following sulphides has the lowest solubility product[KCET 1996]
(a) FeS (b) MnS neé.
() PDbS (d) ZnS

The concentration of which ion is to be decreased, when NH,

solution is added [RPMT 1997]
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(@ OH~ (b) NHy

() H30" d O

The compound insoluble in acetic acid is [T 1986]
(@) Calcium oxide

(b) Calcium carbonate

(c) Calcium oxalate

(d) Calcium hydroxide

A saturated solution of Ag,SO,is 2.5 %1072 M; The value of its
solubility product is [Pb.CET 2004]
(@) 62.5x10°° (b) 6.25x107*

() 15.625x107° d) 3.125x10°°

Solubility product of AQCl is 1x107° at 298 K. lts solubility in

mole litre! would be [Pb.CET 2001]

(a) 1x107°mol/litre
(b) 1x1073mol/litre
(

o) 1x1072mol/litre
(d) None of these
A litre of solution is saturated with AgCl To this solution if

1.0 x107* mole of solid NaC/ is added, what will be the [Ag*],

assuming no volume change [UPSEAT 2004]
(@) More (b) Less
(¢) Equal (d) Zero

The concentration of K7 and KC/in certain solution containing both
is 0.001M each. If 20 m/ of this solution is added to 20 m/ of a
saturated solution of Ag/ in water? What will happen [MP PMT 2004]

(@) AgC/will be precipitated

(b) Agl will be precipitated

() Both AgC/and Agl will be precipitated
(d) There will be no precipitated

The solubility product of a sparingly soluble salt AX,is
3.2x107™ . Its solubility (in moles / litres) is

[CBSE PMT 2004]
(@) 2x107* (b) 4x107*
(c) 5.6x107° (d) 3.1x107*

0.5 M ammonium benzoate is hydrolysed to 0.25 percent, hence its

hydrolysis constant is [MH CET 2004]
() 2.5x107° (b) 1.5x107*

(c) 3[ReMEaggef (d) 6.25x107*

The solubility of Sb,Ss in water is 1.0 X107 mol / litre at 298 K.
What will be its solubility product [CPMT 2004]

(a) 108x107% (b) 1.0x107®

() 144x107% (d) 126x107*

The ionic product of water at 25°C is 10™*. The ionic product
at 90°C will be [CBSE PMT 1996]
@@ 1x107% (b) 1x107%2

() 1x107™™ (d) 1x107

In hydrolysis of a salt of weak acid and strong base, A~ + H,O0 =
HA +OH", the hydrolysis constant (K,) is equal to...
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@ B

Ka I<W
© C @ Ky x K,

Hydrogen ion concentration- pH scale and
Buffer solution

The PH of blood does not appreciably change by a small addition
of an acid or a base because blood
[CBSE PMT 1995]

a) Contains serum protein which acts as buffer
b) Contains iron as a part of the molecule
c) Can be easily coagulated
d) It is body fluid
The pH of a 0.001M NaOH will be

[MP PMT 1995; UPSEAT 2001]
@ 3 (b) 2
(¢) m (d) 12
pH value of a solution, whose hydronium ion concentration is
6.2x10°mol/l, is
(@) 6.21 (b) 7.21
(¢) 775 (d) 821

0.1 mole of CHNH (K =5 X 10™) is mixed with 0.08 mole of HC/
and diluted to one litre. What will be the # concentration in the

—~ =

[AFMC 1999; ATIMS 2000]

solution? [T 2005]
(@) 8x10™M (b) 8x10™M

() 16x10" M (d) 8x10"M

What will be the sum of pH and POH in an aqueous solution ?
@ 7 (b) pk,

() Zero d) 1

Hydrogen ion concentration in mol/L in a solution of pH =5.4

will be [AIEEE 2005]
(a) 3.98x10°8 (b) 3.88x10°
(¢) 3.68x107° (d) 3.98x107°

When solid potassium cyanide is added in water then
[CPMT 2002; BHU 2002]

(@) pHwill increase
(b) pH will decrease
(¢) pHwill remain the same
(d) Electrical conductivity will not change
pHof a 10°M solution of hydrochloric acid will be
[MP PET 2000]
(@) 13 (b) 2.0
(¢) 3.0 (d) 45

The pH of water at 25°C is nearly
[CPMT 1986, 89, 90, 93; CBSE PMT 1989;
MADT Bihar 1995]
(@ 2 (b) 7
() 10 (d) 12
PH of a solution is 5. Its hydroxyl ion concentration is
[JIPMER 1999]

(@ s (b) 10

20.

21.

22.

() 107° (d) 10°°
The pH of a solution in which the [H*]=0.01, is
[MADT Bihar 1980]
@ 2 (b) 1
() 4 d 3

At 25°C, the dissociation constant of a base BOH is 1.0 <1072
The concentration of Hydroxyl ions in 0.01 M aqueous solution of

the base would be [CBSE PMT 2005]

() 2.0x10°molL? (b) 1.0x10°mol L™*

(¢) 1.0x107°mol L (d) 1.0x10"mol L™
Aqueous solution of HCI has the pH =4 . Its molarity would be
(@ am (b) 04 M

() o0.0001 M (d) wom

Which is a buffer solution
[CPMT 1985, 88; AlIMS 1980; MP PMT 1994; AFMC 2004/

a) CHZ;COOH +CH,;COONa
b) CH;COOH +CH;COONH,
¢) CHZ;COOH + NH,CI

d) NaOH + NaCl

The addition of solid sodium carbonate to pure water causes
[NCERT 1973]

(
(
(
(

(@) An increase in hydronium ion concentration

(b) An increase in alkalinity

() No change in acidity

(d) A decrease in hydroxide ion concentration

The aqueous solution of which of the following salt has the lowest
pH [CBSE PMT 2002]

(a) NaBIRTPMT 1998] (b) NaClO,

() NaClO, (d) NacClQ,

The pH ofa 107° M NaOH solution is nearest to
[UPSEAT 2001, 02]

(@ 10 (b) 7

() 4 -10

Which will have maximum pH

—
[= T
=

[NCERT 1979]
(@) Distilled water

(b) 1M NH,

(¢ 1M NaOH

(d) Water saturated by chlorine

pH of a solution is 9.5. The solution is [MH CET 2000]

(@) Neutral (b) Acidic

(c) Basic (d) Amphoteric

The pH ofa 10°M solution of HCI in water is
[UPSEAT 2000, 02]

@ 8 (b) -8

(c) Between 7 and 8 (d) Between 6 and 7

pH + pOH equal to

(@) Zero

[NCERT 1975]

(b) Fourteen

() A negative number (d) Infinity
Which of the following 0.1M solution will contain the largest
concentration of hydronium ions [NCERT 1971, 73]

(a) NaHCO, (b) NH,CI



23.

24.

25.

26.

27.

28.

29.

30.

3L

(e) HCI (d) NH,
Which one has pH 12 [Roorkee 1995]
(@) 0.01M KOH (b) 1IN KOH mi

(¢9 1N NaOH ml (d) 1N Ca(OH), ml

What is the correct relationship between the PHS of isomolar
solutions of sodium oxide (pH;), sodium sulphide (pH,), sodium
selenide (PH3) and sodium telluride (pH,)? [CBSE PMT 2005]
(@ pH; >pH; =pH; >pH,
(b) pH; <pH; <pH; <pH,
() pHy <pH, <pH; =pH,
(d) pH; >pH, >pH; >pH,

Given pH of a solution A is 3 and it is mixed with another solution
B having pH 2. If both mixed then resultant pH of the solution will
be [BHU 2005]

(a) 32 (b) 19
() 34 (d) 35
On adding solid potassium cyanide to water
[MP PMT 1989]
(@) pHwill increase
(b) pH will decrease
(¢) pHwill not change
(d) Electrical conductance will not change

A is an aqueous acid; B is an aqueous base. They are diluted
separately, then [KCET 2002]

(@) PH of Aincreases and PH of B decreases

(b) PH of Aincreases and PH of B decreases till pH in each
case is 7

(¢) PH of Aand Bincrease

(d) pH of Band A decrease
The compound whose 0.1 M solution is basic is

[T 1986; MP PMT 1991]
(@) Ammonium acetate
(b) Calcium carbonate
(¢) Ammonium sulphate
(d) Sodium acetate

The following reaction is known to occur in the body CO, + H,0

32.

33.

34.

35.

36.

37.

38.
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pH values of HCl and NaOH solutions each of strength l

100
will be respectively [MP PMT 1999]
(@) 2and2 (b) 2and12
() 12and 2 (d) 2andi0

When rain is accompained by a thunderstorm, the collected rain
water will have a pH value [AIEEE 2003]

(@) Slightly lower than that of rain water without thunderstorm

(b) Slightly higher than that when the thunderstorm is not there
() Uninfluenced by occurrence of thunderstorm

(d) Which depends on the amount of dust in air

Which of the following is the buffer solution of strong acidic nature

[MP PET 2002]
(a) HCOOH +HCOO~
(b) CH,COOH +CH,COO"
() H,C,0, +C0;"
(d) H3BO; +BO;~

The dissociation constant of an acid HA is 1x107°. The pH of
0.1 molar solution of the acid will be

[KCET (Engg./Med.) 1999]
(@) Five (b) Four
(¢) Three (d) Onme
The pH value of 1.0 x10® M HCI solution is less than 8 because

(a) HCI is completely ionised at this concentration

(b) The ionization of water is negligible

() The ionization of water cannot be assumed to be negligible in
comparison with this low concentration of HCI

(d) The pH cannot be calculated at such a low concentration of
HCI

What is the pH for a neutral solutions at the normal temperature of

the human body [JIPMER 2000]
(@) 7.2 (b) 140
() 68 (d) 6.0

1 M NaCl and 1 M HCl are present in an aqueous solution. The

solution is [AIEEE 2002]
(@) Not a buffer solution with pH < 7
(b) Not a buffer solution with pH > 7

(¢) A buffer solution with pH <7

= H,CO; = H" +HCOj. If CO, escapes from the system[NCERT 1973; RPMT 1987 uffer solution with pH > 7

(@) PpH will decrease

(b) Hydrogen ion concentration will decrease
(¢) H,CO; concentration will be unaltered
(d) The forward reaction will be promoted

For preparing a buffer solution of PH 6 by mixing sodium acetate

and acetic acid, the ratio of the concentration of salt and acid should

be (K, =107°) [MP PET 1997]
(@ 1:10 (b) 10:1

(¢ 100:1 (dy 1:100

Which is incorrect for buffer solution [CPMT 1985]

(@) It contains weak acid and its conjugate base
(b) 1t contains weak base and its conjugate acid
(c) 1In this there is very less change is PH value when very less

amount of acid and base is mixed

(d) None of the above

39.

40.

41.

42.

A solution has pH =5, it is diluted 100 times, then it will become[NCERT 197

(@) Neutral (b) Basic
() Unaffected (d) More acidic

0.02 M monobasic acid dissociates 2% hence, PH of the solution is
[MH CET 2000]

(a) 0.3979 (b) 1.3979

() 1.699 (d) 3.3979

Components  of buffer solution are 0.IMHCN and
0.2 M NaCN . What is the pH of the solution [RPET 2000]
(a) 9.61 (b) 615

(¢) 20 (d) 4.2

pH of a solution of 10ml . 1V sodium acetate and 50m| 2N acetic

acid (K, =1.8 x 10_5), is approximately

[MP PMT 2003]
@ 4 (b) 5
() © (d 7
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43.

44.

45.

46.

47.

48.

49.

50.

51

52.

53.

54.

55.

56.

By adding 20ml 0.INHCI to 20ml 0.001N KOH, the

pH of the obtained solution will be [KCET 2000]

(@ 2 (b) 1.3
() 0 d) 7
The pH of the solution containing 10ml of a 0.1N NaOH and
10ml of 0.05N H,SO, would be
[Pb. PMT 2002, 04]

(@ 1 (b) o
() 7 d >7
The pH of 107 M NaOH is [MP PMT 2001]
(@) 7.0 (b) Between 7 and 8
(c) Between 9 and 10 (d) Greater than 10
The hydrogen ion concentration of 0.1N  solution of
CH;COOH, which is 30% dissociated, is [JIPMER 2002]
(a) o0.03 (b) 3.0
(¢) 03 (d) 30.0
What is the pH of 0.1 M NH, [RPET 2000]
(@) m.27 (b) ma3
(¢) 120 (d) 9a3
By adding a strong acid to the buffer solution, the p# of the buffer
solution [DPMT 1996]
(a) Remains constant (b) Increases
(c) Decreases (d) Becomes zero
The pH of 0.1M NaOH is [MP PET 2003]
@ m (b) 12
() 13 d) 14
pH of human blood is 7.4. Then H™ concentration will be

[RPMT 2002]
() 4x1078 (b) 2x107®
() 4x107* d 2x10™*

Assuming complete ionisation, the pH of 0.1M HCI, is 1. The
molarity of H,SO, with the same pHis
[Pb. PMT 2002]

(@) oa (b) 02

(¢) 0.05 (d)

Highest pH 14 is given by [DCE 1999]
(@ 0.IMH,SO, (b) 0.1M NaOH

(¢) 1N NaOH (d) 1INHCI

What will be the pH of a 10 M HCI solution

[MP PET/PMT 1998; RPET 1999;MP PMT 2000]
(a) 80 (b) 7.0
(c) 6.98 (d) 140
When 10 m/ of 0.1 M acetic acid (pK, =5.0) is titrated against 10
ml of 01M ammonia solution (PK, =5.0), the equivalence point
occurs at pH [ANIMS 2005]
(@) 5.0 (b) 6.0
() 7.0 (d) 9.0
Which on reaction with water will have pH less than 7

[MH CET 2001]

(a) BaO (b)
(¢ Na,O (d)

A solution of MQCI, in water has pH

CaO
PZOS

[MP PMT 2002]
(@ <7 (b) >7

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

() 7 (d) 142
pH of completely dissociated 0.005M H,SO, is
[RPET 2003]

@ 3 (b) 4
d 5
The pK, of a weak acid is 4.8. What should be the ratio of
[Acid]/[Salt] of a buffer if pH =5.8 is required

[MP PET 2003]
(@ 10 (b) 02
(c) 1 d 2
Which of the following salt is acidic

[CPMT 1979, 81; NCERT 1979, 81;
MP PET 1990; JIPMER 2002]

(a) Na,SO, (b) NaHSO,
() Na,SO, (d) Na,S

20ml of 0.5N HCI and 35ml of 0.IN NaOH are mixed.
The resulting solution will [KCET 2005]
(@) Be neutral

(b) Be basic

() Turn phenolphthalein solution pink

(d) Turn methyl orange red
The pPH of a 0.02 M solution of hydrochloric acid is
[MP PMT 1993]
(@) 2.0 (b) 17
(¢) 03 (d) 22
A sample of Na,CO5;.H,0 weighing 0.62 gis added to

100 ml of 0.1N (NH,),SO, solution. What will be the
resulting solution [BHU 1997]
(@) Acidic (b) Neutral

(c) Basic (d) None of these

The pH of the solution is 4. The hydrogen ion concentration of the
solution in mol/litre is [UPSEAT 2000]

@@ 95 (b) 107
(¢ 10* d 1072
NaOH(aq), HC|(aq) and NaCI(aq) concentration of each is
107 M . Their pH will be respectively [BHU 2003]
(a) 10,6,2 (b) n,3,7
() 10,2,6 (d) 34,7
The pH of lOiSMaqueous solution of NaOH is

[MP PET 1996]
@ s (b) 7
(¢ 9 (d) m

The PH of 0.05 M solution of dibasic acid is

[MH CET 2002]
(@) +1 b -1
() +2 d -2
A buffer solution contains 0.1 M of acetic acid and 0.1 M of
sodium acetate. What will be its pH , if pK, of acetic acid is 4.75
(a) 4.00 (b) 4.75
(¢) 5.00 (d) 5.25
To obtain a buffer which should be suitable for maintaining a
pH of about 4 —5, we need to have in solution, a mixture of
(@) A strong base + its salt with a weak acid

(b) A weak base + its salt with a strong acid
(c) A strong acid + its salt with a weak base



69.

70.

7.

72.

73.

74.

75.

76.

77.

78.

(d) A weak acid + its salt with a strong base 79.

The concentration of NaOH solution is10™° M. Find out the

(OH™) concentration [CPMT 1993]
@@ 1078
(b) Greater than 10°° 8o.
() 107°
(d) Lies between 107%and 1077 8
The pH of 0.0001 N solution of KOH will be
[BHU 1997; CET Pune 1998]
@ 4 (b) 6
(© 10 A 12 82.
Given that the dissociation constant for H,0 is K, = 1x107
mole? litre?, what is the pH of a
0.001 molar KOH solution 83.
[MP PET 1995; MP PET/PMT 1998]
(2 107 (b) 3
() 14 d) n
An acidic buffer solution can be prepared by mixing solution of [MNR 1983]
(@) Ammonium acetate and acetic acid 84.
(b) Ammonium chloride and hydrochloric acid
(¢) Sulphuric acid and sodium sulphate
(d) Acetic acid and sulphuric acid
(e) NaCl and NaOH
Which of the following mixtures forms an acid buffer

[MP PMT 1993; IIT 1981; CPMT 1989; CBSE PMT 1989]

85.
(a) NaOH + HCI
(b) CH;COOH +CH3;COONa
(¢ NH,OH +NH,CI
(d) H,CO5 +(NH,),CO;4 86.
A buffer solution has equal volumes of 0.2M NH,OH and
0.02M NH ,CI . The pK, of the base is 5. The pH is
[CBSE PMT 1989; KCET 2005]
(@ 10 (b) o 87.
() 4 d 7
The PH of a simple sodium acetate buffer is given by
pH = pK, +log [Sa.lt]
[Acid] 88.

K, of acetic acid =1.8 x107°
If [Salt] = [Acid] = 0.1 M, the PH of the solution would be about [BHU 1987]

@ 7 (b) 47
() 53 d 14
Amongst the following solutions, the buffer solution is 89.
[MP PMT 1999]
(@ NH,CI+ NH,OH solution
(b) NH,CI + NaOH solution
() NH,OH + HCl solution
(d) NaOH + HCl solution
90.
The PH of solution having [OH ] = 107 s [A1IMS 1996]
@ 7 (b) 14
(c) Zero dy -7

50 ml water is added to a 50 ml solution of Ba(OH), of

i ilibri umvens;\
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PH of a solution can be expressed as
[CPMT 1999; UPSEAT 2001]

(@) —log,(H") (b) —log,(H")

() loge(H™) (d) log,(HY)

The solution of sodium carbonate has pH [MP PET 2000]
(@) Greater than 7 (b) Less than 7

() Equal to7
The pH of 107 N HCI is
(a) 6.0 (b) 6.97
() 80 (d) 10.0
If the pH of a solution is 2, its normality will be
[MADT Bihar 1982; MP PET 2000]

(@) 2N (b) % N
() o001 N (d)
The buffer solution of 100 Ml having a pH value 4 when added
to1 ml dilute HCI, then the pH of buffer solution

[NCERT 1976, 77]
Does not change
Changes to 10

(d) Equal to zero

[RPMT 2000]

None of these

(@) Converts to 7 (b)
(c) Converts to 2 (d)

In a solution of acetic acid, sodium acetate is added, then its pH
value[NCERT 1977; DPMT 1985; MP PMT 1994]

(@) Decreases
(b) Increases
(¢) Remains unchanged
(d) (a) and (b) both are correct
If pOH of a solution is 6.0, then its pH will be
[MP PMT 1987]
(@) 6 (b) 10
() 8 (d) 14
In a solution of PH =5, more acid is added in order to reduce the
pH = 2. The increase in hydrogen ion concentration is[MP PET 1989; CPMT 19
(@) 100 times (b) 1000 times
(¢) 3 times (d) 5 times
Which solution contains maximum number of H " ion

(a) oaM HCI (b) oaMm NH,CI
() oaM NaHCO, (d) oaMm

A certain buffer solution contains equal concentration of X~ and
HX. The K, for X7 is 107, The pH of the buffer is
[T 1984; RPMT 1997; CPMT 1996; DPMT 2004]

@ 4 (b) 7
() 10 (d) 14
The defination of pH is [EAMCET 1980; UPSEAT 2001]
1
(@) pH =log— (b) pH =log[H"]
[H7]
1 H+]
(©) pH=-log— d) pH=-lod
[H7]

Which of the following does not make any change in pH when
added to 10 ml dilute HCI [NCERT 1975]
(@) 5 mlpure water (b) 20 m/ pure water

() 10 ml HCI (d) Same 20 ml dilute HCI

strength 0.01 M. The pH value of the resulting solution will be[MP PM1999]A compound whose aqueous solution will have the highest pH

(@) 8 (b) 10
(c) 12 d 6

[CPMT 1974, 75, 78; MP PET 1996; DPMT 1982, 83]
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92.

93.

94.

95.

96.

97.

98.

99.

100.

101

102.

(@) NaCl (b) Na,CO,
(¢) NH,CI (d) NaHCO,

At 80°C, distilled water has [H30%] concentration equal to

103.

(¢) 2, 5—dihydroxy benzoic acid (pK, = 2.97)
(d) Acetoacetic acid (pK, =3.58)

In a mixture of a weak acid and its salt, the ratio of concentration of

acid to salt is increased ten-fold. The PH of the solution

1x107° mole/litre The value of K,y at this temperature will be[CBSE PMT 199(15;)RPIE9T 2000;

AFMC 2001; ATIMS 2002; BHU 2002]
@ 1x10° (b) 1x10°
() 1x107%2 d) 1x107%
The pH value of 0.1 M NaOH solution is (when there is a

given reaction [H*][OH]= 107 ) [CPMT 1997]

(@ 13 (b) 12

() m d) 2

Which oxychloride has maximum pH [CPMT 1997]

(a) NacClO (b) NaClO,

() NaClO, ) NaClO,

pH of HCI(10™2M)is [CPMT 1997; Pb. PET/PMT 1999
@ 12 (b) -12

() =7 (d) 14

Which one is buffer solution [CPMT 1997]
(@ [PO; 1[HPO,"] (b) [PO31[H,PO;]

(¢ [HPO, 1[[H,PO,7] (d) Al of these
When 100 ml of M /10 NaOH solution and 50 ml of

M /5 HCI solution are mixed, the PH of resulting solution

would be [RPMT 1997]
@ o (b) 7
() Less than 7 (d) More than 7

How many millilitres of 6.0 M hydrochloric acid should be used to
prepare 150 ml of a solution which is 0.30 M in hydrogen ion
(a) 3.0 (b) 75

(¢) 93 (d) 30

The pH of 0.1 M acetic acid is 3, the dissociation constant of acid
will be

(@ 1.0x107* (b) 1.0x107°
() 1.0x107 (d 1.0x107
The PpPH of a buffer solution containing  25ml of
1MCH;COONa and 25 ml of 1 M CH;COOH will be

appreciably affected by 5 ml of [CPMT 1987]

(@ 1M CH,;COOH (b) 5 M CH,;COOH

() 5 M HCI (d 1M NH,OH

The PH value of decinormal solution of NH,OH which is 20%
ionised, is [CBSE PMT 1998]
(@) 13.30 (b) 14.70

() 1230 (d) 12.95

A physician wishes to prepare a buffer solution at pH =3.58 that

efficiently resists changes in PH yet contains only small

concentration of the buffering agents. Which of the following weak
acids together with its sodium salt would be best to use[CBSE PMT 1997]

(@) m — chlorobenzoic acid (pK, = 3.98)
(b)  p — chlorocinnamic acid (pK, =4.41)

104.

105.

106.

107.

108.

109.

no.

m.

nz.

n3.

ecreasés by one (b) Increases by one-tenth

(c) TIncreases by one (d) TIncreases ten-fold

When an acid or alkali is mixed with buffer solution, then pH of

buffer solution [CPMT 1997]
(@) Not changes (b) Changes slightly
(c) TIncreases (d) Decreases

How much sodium acetate should be added to a 0.1 m solution of

CH;COOH to give a solution of pH=55(pK, of

CH,;COOH =4.5) [KCET 1996]
(@ 01m (b) 0.2m

(¢ 1.0m (d 10.0m

The PH of the aqueous solution containing 0.49 gm of H,SO,
in one litre is [EAMCET 1997]
@ 2 (b) 1

() 17 (d) o3

Which of the following solutions can act as buffer
[JIPMER 1997]

(a) 0. molar aq. NaCl
(b) 0. molar ag. CH;COOH + 0.1 molar NaOH
() 0. molar aq. ammonium acetate
(d) None of the above
The pPH of a solution obtained by mixing 50 ml of
0.4 N HCI and 50 ml of 0.2 N NaOH is [KCET 1996]
(a) —log2 (b) —log0.2
() 10 (d) 2.0
Which of the following is a buffer
[Pb. PMT 1998] [MP PMT 1991; BHU 1995]
(@@ NaOH +CH;COONa
(b) NaOH + Na,SO,
() K,SO, +H,SO,
(d) NH,OH+CH;COONH,
If 4.0 gm NaOH is present in 1 Jitre solution, then its PH will be
[CPMT 1989]
(@ 6 (b) 13
() 18 (d) 24
The POH of beer is 10.0. The hydrogen ion concentration will be
(a) 1072 (b) 107%°
() 107° (d 107
When a buffer solution of sodium acetate and acetic acid is diluted
with water [CPMT 1985]

(@) Acetate ion concentration increases

(b) H ™ ion concentration increases

(¢) OHT7 ion concentration increases

(d) H¥ ion concentration remain unaltered
What is the pH of Ba(OH), if normality is 10

[CPMT 1996]
(@ 4 (b) 10
() 7 d o



n4.

ns.

n6.

n7.

n8.

n9.

120.

121

122,

123.

124.

125.

126.

127.

What will be the pH of a solution formed by mixing 40 ml of
0.10 M HCI with 10 ml of 0.45 M NaOH

[Manipal MEE 1995]
(@) 12 (b) 10
(c) 8 d) 6
The pH of a solution having [H*]=10 x107™* moles/litre will
be [BHU 1981]

@ 1 (b) 2

(©) 3 d 4

1f 0.4 gm NaOH is present in 1 Jitre solution, then its PH will
be [CPMT 1985; BHU 1980]

(@) 2 (b) 10

(€ m (d) 12

Which of the following is not a Bronsted acid [BHU 1997]
(a CHZNH;, (b) CH;COO~

(¢ H,0 (d) HSO,

pH of 0.005 M H,SO, solution will be [NCERT 1980]
(@) o0.005 (b) 2

(c) 1 (d) o.0

A buffer solution is a mixture of [MP PMT 1987]

(@) Strong acid and strong base

(b) Weak acid and weak base

(¢) Weak acid and conjugate acid
(d) Weak acid and conjugate base

When PH of a solution decreases, its hydrogen ion concentration

(@) Decreases (b) Increases

(c) Rapidly increases (d) Remains always constant

If the pH of a solution is 4.0 at 25°C, its pOH would be
(K, =107) [MP PMT 1989]
(@) 4.0 (b) 6.0

(¢) 8.0 (d) 10.0

An aqueous solution whose pH =0 is

[CPMT 1976; DPMT 1982]
Acidic
Amphoteric

(@) Alkaline (b)
(¢) Neutral (d)

In a solution of acid H ™ concentration is 107° M. The pH of this
solution will be

@ 8 (b) 6
(c) Between 6 and 7 (d) Between 3 and 6
The concentration of hydronium (H30") ion in water is

[CET Pune 1998]

(@) Zero (b) 1x107 gm ion/litre

() 1x107* gmion/litre (d) 1x10~' gm ion/litre

A solution whose pH value is less than 7 will be

(a) Basic (b) Acidic

(¢) Neutral (d) Buffer

When the PH of a solution is 2, the hydrogen ion concentration in

moles per litre is
[NCERT 1973; MNR 1979]

(@) 1x107™ (b) 1x107°
() 1x1077 d) 1x107%
A base is dissolved in water yields a solution with a hydroxide ion

concentration of 0.05 Mol litré™. The solution is [AFMC 1997]

128.

129.

130.

131.

132.

133.

134.

135.

136.
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(@) Basic (b) Acid

(c) Neutral (d) Both (a) and (b)

The PH of a solution is increased from 3 to 6. lts H™" ion
concentration will be [EAMCET 1998]

(@) Reduced to half

(b) Doubled

(c) Reduced by 1000 times

(d) Increased by 1000 times

Pure water is kept in a vessel and it remains exposed to atmospheric

CO,, which is absorbed, then its pH will be
[MADT Bihar 1984; DPMT 2002]

(@) Greater than 7

(b) Less than 7

() 7

(d) Depends on ionic product of water

The PH of a solution is 2. If its PH is to be raised to 4, then the
[H] of the original solution has to be [MP PET 1994]
(@) Doubled

(b) Halved

(c) Increased hundred times

(d) Decreased hundred times

Which of the following solutions cannot act as a buffer
[EAMCET 1998]

a) NaH,PO, + H;PO,
b) CH,COOH +CH;COONa
[MADT Bihar 1981]
) HCl+NH,CI
d) H;PO, + Na,HPO,
Assuming complete ionisation, the PH of 0.1 M HClis 1. The
molarity of H,50, with the same pH is

[KCET 1998]
(@) o0z (b) 02
() 20 (d) o0.05
The PH of blood is
(@) 5.2 (b) 6.3
() 74 (d) 85

The pH of 1078 molar aqueous solution of HCl is
[CPMT 1988; MNR 1983, 90; MP PMT 1987; 11T 1981;
BHU 1995; AFMC 1998; MP PET 1989, 99; BCECE 2005]
a) -8
b) 8
() 6>7 (Between 6 and 7)
(d) 7>8 (Between 7 and 8)

—

As the temperature increases, the PH of a KOH solution
[UPSEAT 2001]

(@) Will decreases

(b) Will increases

(¢) Remains constant

(d) Depends upon concentration of KOH solution

The hydrogen ion concentration in a given solution is 6 x107%, 1ts
pH will be [EAMCET 1978]
(@ 6 (b) 4

() 3.22 (d) 2
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The pH of 1’;0 HCI would be approximately

[CPMT 1971; DPMT 1982, 83;
MP PMT 1991; Bihar MEE 1996]

(@ 1 (b) 15
() 2 (d) 25
A solution which is resistant to change of PH upon the addition of

an acid or a base is known as [BHU 1979]
(@) A colloid (b) A crystalloid
(c) A buffer (d) An indicator
10°M HCI is diluted to 100 times. Its pH is
[CPMT 1984]
(@) 6.0 (b) 8.0
(c) 6.95 (d) 95
The pH ofa 107 molar HCI solution is approximately
[NCERT 1977]
(@ 10 (b) 7
(e) 1 d) 14

The H™ ion concentration is 1.0 x10™® mole/litre in a solution. Its
pH value will be

[MP PMT 1985; AFMC 1982]
(@) 12 (b) 6
() 18 d) 24
The PH of a solution is the negative logarithm to the base 10 of its

hydrogen ion concentration in
[Manipal MEE 1995]
Millimoles per litre

(@) Moles per litre (b)

(¢) Micromoles per litre (d) Nanomoles per litre

When 1078 mole of HCI is dissolved in one litre of water, the
PH of the solution will be
[CPMT 1973, 94; DPMT 1982]
@ 8 (b) 7
(c) Above 8 (d) Below 7
The PH of the solution containing 10 Ml of 0.1 ¥/ NaOH and 10
ml of 0.05 N H,SO, would be
[CPMT 1987; Pb. PMT 2002,04]
@ o (b) 1
@ =7 @ 7
The pH of 0.001 molar solution of HCI will be
[MP PET 1986; MP PET/PMT 1988; CBSE PMT 1991]

(@) o.001 (b) 3

(c) 2 d) 6

Which salt can be classified as an acid salt [CPMT 1989]
(@) Na,SO, (b) BIOCI

(¢) Pb(OH)CI (d) Na,HPO,

Given a 0.IM solution of each of the following. Which solution has

the lowest pH [MNR 1987]
(@) NaHSO, (b) NH,CI
(¢ HCI (d) NHj4

Out of the following, which pair of solutions is not a buffer solution
(@ NH,ClI+NH,OH

(b) NaCl + NaOH

(¢ Na,HPO, + Naz;PO,

(d) CH3;COOH +CH3;COONa

If the dissociation constant of an acid HA is l><1075, the pH of
a 0.1 molar solution of the acid will be approximately ~ [NCERT 1979]
(@) Three (b) Five
(c) Ome (d) Six

150.

151

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

pH value of N /10 NaOH solution is
[CBSE PMT 1996;Pb. CET 2001; Pb. PMT 2002]

(@ 10 (b) m
(c) 12 (d) 13
A solution of sodium borate has a pH of approximately

[JIPMER 2001]
(@ <7 ®) >7
() =7 (d) Between 4to 5
If pHof A B, Cand Dare 95, 2.5 3.5 and 5.5 respectively,
then strongest acid is [AFMC 1995]
@ A (b) C
() D (d) B
At 25°C the pH value of a solution is 6. The solution is

[AFMC 2001]
(@) Basic (b) Acidic
(¢) Neutral (d) Both (b) and (c)

A certain buffer solution contains equal concentration of X~ and
HX . The K, for HXis 1078 . The pH of the buffer is

[UPSEAT 2001]
@ 3 (b) 8
(¢ m (d) 14
The dissociation constant of HCN is 5x107° . The pH of the
solution prepared by mixing 1.5 mole of HCN and 0.15 moles of KCN
in water and making up the total volume to 0.5 dm? is
(@) 7.302 (b)
() 8.302 d)
Which buffer solution out of the following will have pH >7

[MP PET 2001]

9.302
10.302

(a@ CHZ;COOH +CH;COONa

(b) HCOOH + HCOOK

(¢ CHZ;COONH,

(d) NH,OH +NH,CI

The PK, of equimolecular sodium acetate and acetic acid mixture
is 4.74.1f pH is [DPMT 2001]
@ 7 (b) 92

() 474 d) 14

pH of NaCl solution is [CET Pune 1998]
(@ 7 (b) Zero

() >7 d) <7

A solution of sodium chloride in contact with atmosphere has a

pH of about [NCERT 1972, 77]
(@) 35 (b) 5
() 7 d 14

Which would decrease the pH of 25¢m?® of a 0.01M solution

of hydrochloric acid [MH CET 2001]

(@) The addition of 25 cm® 0.005M hydrochloric acid

(b) The addition of 25 cm® of 0.02M hydrochloric acid
() The addition of magnesium metal
(d) None of these

The condition for minimum change in PH for a buffer solution is

(@) lsoelectronic species are added

(b) Conjugate acid or base is added



162.

163.

164.

165.

166.

167.

168.

169.

170.

171

() pH=pK,

(d) None of these

A buffer solution with pH 9 is to be prepared by mixing NH,Cl
and NH,OH . Calculate the number of moles of NH,CI that

should be added to one litre of 1.0M NH,OH.
[K, =1.8x107°] [UPSEAT 2001]

(a) 34 (b) 2.6

() 15 d) 1.8

The ionization constant of a certain weak acid is 107 . What
should be the [salt] to [acid] ratio if we have to prepare a buffer

172.

173.

- N pr—

Ionic Equilibrium 371 RIS

DA
(@) TIncrease by one (b) Remains unchanged

(c) Decrease by one (d) Increase by 10
The gastric juice in our stomach contains enough HCI to make the

hydrogen ion concentration about 0.01 mole/litre The pH of

gastric juice is [NCERT 1974]
(@) o.0 (b) 1
() 2 (d) 14

Addition of which chemical will decrease the hydrogen ion
concentration of an acetic acid solution [MP PMT 1990]

@) NH,CI (b) Al,(SO,),
(c) AgNO, (d) HCN

with pH = 5 using this acid and one of the salts [CPMT 2000; KCET 2000; Ph;£ET 2¢9@] one which has the highest value of pH is

(@) 1:10 (b) 10:1

(€ 5:4 d) 4:5

Which solution has the highest pH value [JIPMER 2000]
(@) 1M KOH

(b) 1MH,SO,

(¢) Chlorine water

(d) Water containing carbon dioxide

One weak acid (like CH3;COOH ) and its strong base together
with salt (like CH;COONa ) is a buffer solution. In which pair

this type of characteristic is found

[ATIMS 1982; CPMT 1994; MP PET 1994]
(a) HCI and NaCl (b) NaOH and NaNO,

(¢) KOH and KCI (d) NH,OH and NH,CI
If the pH of a solution of an alkali metal hydroxide is 13.6, the
concentration of hydroxide is [JIPMER 2000]
(@) Between 01 Mand 1 M
(b) More than 1 M
(c) Less than 0.001 M
(d) Between 0.01 Mand 1 M
The pK, of acetylsalicylic acid (aspirin) is 3.5. The pH of gastric
juice in human stomach is about 2-3 and the PH in the small
intestine is about 8. Aspirin will be

[T 1988; KCET 2003]
(@) Unionized in the small intestine and in the stomach
(b) Completely ionized in the small intestine and in the

stomach

(¢) lonized in the stomach and almost unionized in the small
intestine

(d) lonized in the small intestine and almost unionized in the
stomach

The concentration of hydrogen ion in water is

[MP PET 1990]
@) 8 (b) 1x1077
() 7 (d) 1/7
PH of a10 M solution of HCI is [CBSE PMT 1995]
(@) Less than 0 (b) 2
() o (d) 1
The pH of 1 N H,O is [CPMT 1988]
@ 7 (b) >7
() <7 (d) o
If H" ion concentration of a solution is increased by 10 times its pH
will be [DCE 2000]

175.

176.

177.

178.

179.

180.

181.

182.

183.

(@) Distilled water

(b) NHj solution in water
() NH,

(d) Water saturated with Cl,

The solution of Na,CO; has pH [AMU 1988]
(@) Greater than 7 (b) Less than 7

(¢) Equal to7 (d) Equal to zero

Which is not a buffer solution [CPMT 1990]

(@) NH,CI+NH,OH
(b) CHLCOOH +CH,COONa
(¢) CHLCOONH,
(d) Borax + Boric acid

What will be hydrogen ion concentration in moles litre® of a

solution, whose pH is 4.58 [UPSEAT 2001]
(a) 2.63x107° (b) 3.0x107°

(c) 4.68 (d) None of these

Assuming complete dissociation, the pPH of a o001 M

NaOH solution is equal to
[NCERT 1975; CPMT 1977; DPMT 1982; BHU 1997]

(@) z2.0 (b) 140
() 12.0 (d) o.0
50 Ml of 2N acetic acid mixed with 10ml of 1 N sodium
acetate solution will have an approximate pH of

[MP PMT/PET 1988]
@ 4 (b) 5
(c) 6 d 7

The hydrogen ion concentration of 0.001 M NaOH solution is

(@) 1x10?mole/litre (b) 1x10 ™ mole/litre
() 1x10*mole/litre d) 1x10*?mole/litre

A weak monoprotic acid of 0.1 M, ionizes to 1% in solution. What

will be the pH of solution [MNR 1988]
(@) 1 (b) 2
() 3 (d) n

pH of a solution is 4. The hydroxide ion concentration of the

solution would be
[NCERT 1981; CBSE PMT 1991; MP PMT 1994]

@@ 107 (b) 107

() 1072 d) 107

The pH of an aqueous solution containing [H*]= 3 x 103M s
[MP PET 2001,04]

(@) z4n (b) 2.523

() 30 d -3
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184.

185.

186.

187.

188.
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192.

193.

194.

195.

196.

PH of blood is maintained constant by mechanism of
[MH CET 2002]

(@) Common ion effect (b) Buffer

(c) Solubility (d) Al of these

The pH of normal KOH is [MP PET 1990]

(@ 1 (b) o

() 14 d) 7

The concentration of hydrogen ion [H*] in 0.o0 M HCI is
[EAMCET 1979]

(@) 10% (b) 1072

() 107 d) 107

A solution of weak acids is diluted by adding an equal volume of
water. Which of the following will not change

[JIPMER 1997]
a) Strength of the acid

b) The value of [H;07]

) PH of the solution
d) The degree of dissociation of acid
Ka of H,0, is of the order of

) 107% (b)
(c) 107 ()
q

uivalent weight of an acid

C

(
(
(
(
[DCE 2004]

107

10710
[UPSEAT 2004]
(@) Depends on the reaction involved
(b) Depends upon the number of oxygen atoms present
(¢) 1s always same
(d) None of the above

PH scale was introduced by [UPSEAT 2004]
(@) Arrhenius (b) Sorensen
() Lewis (d) Lowry

Buffer solution is prepared by mixing [MH CET 2003]
(@) Strong acid + its salt of strong base

(b) Weak acid + its salt of weak base

() Strong acid + its salt of weak base

(d) Weak acid + its salt of strong base

The pH of millimolar H(Tis [MH CET 2004]

(@ 1 (b) 3
() 2 d) 4
Which of the following is a Lewis base [CPMT 2004]
(@) NaOH (b) NH,
() BCly (d) Al of these
What will be the pH value of 0.05 M Ba(OH), solution
[CPMT 2004]
(@) 12 (b) 13
() 1 (d) 12.96

In a mixing of acetic acid and sodium acetate the ratio of
concentration of the salts to the acid is increased ten times. Then
the pH of the solution [KCET 2004]

(@) Increase by one (b) Decreases by one
(¢) Decrease ten fold (d)

The rapid change of pH near the stoichiometric point of an acid-
base titration is the basis of indicator detection. pH of the solution is
related to ratio of the concentrations of the conjugate acid (H/n) and

Increases ten fold

base (In”)forms of the indicator by the expression

[Hin] B [In7] _
(@) log[ - =pH-pK;, (b) lg[HI] pH - pK|,
(0) gu—p -pH () log[H'] pK, —pH

[HI [In"]

197.
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200.

201.

202.

203.

204.

205.

Which of the following statement(s) is(are) correct
[T 1998]

(@) The pH of 1.0x1078 M solution of HCI is 8

—~
o
=

The conjugate base of H,PO, is HPO;~

Al]topl‘OtO]ySiS constant of water increases with temperature

n
R

When a solution of a weak monoprotic acid is titrated against
1

2 pKa

An aqueous solution of sodium carbnate has a pH greater than 7
[DCE 2003]

a strong base, at half neutralization point pH =

becaue
(a) 1t contains more carbonate ions than H,O molecules
(b
(c

(d) Carbonate ions react with H,O

Contains more hydroxide ions than carbonate ions

Na™ ions react with water
A PH of 7 signifies

(
(

Assuming complete dissociation, which of the following aqueous

[CPMT 1974; DPMT 1982]
a) Pure water (b) Neutral solution
¢) Basic solution (d) Acidic solution
solutions will have the same PH value

[Roorkee Qualifying 1998]

(@) 100 ml of 0.01 M HCI

(b) 100 ml of 0.01 M H,SO,

() 50 ml of 0.01 M HCI

(d) Mixture of 50 ml of 0.02 M H,SO, and 50 ml of

0.02 M NaOH

A buffer solution can be prepared from a mixture of

[T 1999; KCET 1999; MP PMT 2002]
a) Sodium acetate and acetic acid in water
b

C

d

Sodium acetate and hydrochloric acid in water

Ammonia and ammonium chloride in water

—~ o~ o~ —

Ammonia and sodium hydroxide in water

:_.vv\_,\_/

Which of the following will not function as a buffer solution
[Roorkee 2000]

a) NaCl and NaOH
b) NaOH and NH,OH

) CHZ;COONH, and HCI
) Borax and boric acid
Wh

ich one of the following statements is not true

(

(

(c

(d
[ATEEE 2003]

(@) The conjugate base of H,PO, is HPO;~

(b) pH + pOH =14 for all aqueous solutions

(¢) The pH of 1x10 M HCI is 8

)

(d) 96,500 coulombs of electricity when passed through a
CuSO, solution deposits 1 gram equivalent of copper at the
cathode

The PH value of 0.1 M HCI is approximately 1. What will be the

approximate PH value of 0.05 M H,SO,

[MP PMT 1901]
(a) 0.QGBSE PMT 2004] (b) 05
(€) 1 d 2
The Kg of Mg(OH), is 1x107%,0.01M Mg(OH), will
precipitate at the limiting pH [DPMT 2005]
@ 3 (b) 9
(© 5 d) 8
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The PH of an aqueous solution having hydroxide ion concentration

as 1x107° is [MP PMT 1991]
@ 5 (b) 9
(¢) 45 (d) n

Critical Thinking

Objective Questions

T

The Kgp of Agl is 1.5 %107 on mixing equal volumes of the

following solutions, precipitation will occur only with
[AMU 2000]

@ 107"MAg" and 107°M I
(b) 10°M Ag*and 108M I~
() 107®M Ag*and 107 M I~
(d 10°M Ag*and 10°M I~

The strongest Bronsted base in the following anion is
[T 1981; MP PET 1992, 97; MP PMT 1994; RPMT 1999;
KCET 2000; AlIMS 2001; UPSEAT 2002;
AFMC 2002; Pb. CET 2004]

@ CIOo” (b) ClO;
() Clo; d) cClo;
Which one of the following compound is not a protonic acid

[CBSE PMT 2003]
(@) SO,(OH), (b) B(OH),
(c) PO(OH), (d) SO(OH),
Calculate the hydrolysis constant of the salt containing NO, . Given
the K, for HNO, =4.5x107"

[UPSEAT 2001]

(@) 2.22x107° (b) 2.02x10°
(c) 4.33x10* (d) 3.03x107°

The molar solubility (mol Lil) of a sparingly soluble salt MX, is

'S". The corresponding solubility product is Ky . 'S'is given in

terms of Ksp by the relation [AIEEE 2004]

(@) s=(256Kg)""° (b) s=(128K)"*

(@ s=(Kg/128)"* d) s=(Kg/256)"°

Electrophiles are [RPET 2000]

(b) Lewis base

(@) Lewis acids

(c) Bronsted acid (d) Bronsted base

Total number of moles for the reaction 2HI = H, +1,. if o is
degree of dissociation is [CBSE PMT 1996]
(@) 2 b) 2-c

(e) 1 d) 1-«a

Which one is a Lewis acid [RPMT 1997]
(a) CIR (b) H,0

() NHj4 (d) None of these

Heat of neutralisation of weak acid and strong base is less than the
heat of neutralisation of strong acid and strong base due to

- . - UNIVERSAL
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(@) Energy has to be spent for the total dissociation of weak acid
(b) Salt of weak acid and strong base is not stable

() Incomplete dissociation of weak acid

(d) Incomplete neutralisation of weak acid

pK, values of two acids A and B are 4 and 5. The strengths of
these two acids are related as [KCET 2001]

(@) Acid A is 10 times stronger than acids B

(b) Strength of acid A : strengtha ofacid B =4 : 5

() The strengths of the two acids can not be compared
(d) Acid Bis 10 times stronger than acid A

The dissociation constant of two acids

HA, and HA, are

3.14x107™ and 1.96x107° respectively. The relative strength
of the acids will be approximately [RPMT 2000]
(@ 1:4 (b) 4:1
() 1:16 (d) 16:1
An aqueous solution of ammonium acetate is

[NCERT 1980, 81; RPMT 1999]
(@) Faintly acidic (b) Faintly basic

(c) Fairly acidic (d) Almost neutral

The dissociation constant of a weak acid is 1.0 ><10’5, the

equilibrium constant for the reaction with strong base is

[MP PMT 1990]
() 1.0x107° (b) 1.0x107°
() 1.0x10° (d 1.0x10™
The pH of 0.1 M solution of the following salts increases in the
order [T 1999]

(@) NaCl < NH,CI < NaCN < HCI
(b) HCI < NH,CI < NaCl < NaCN
() NaCN < NH,CI < NaCl < HCI
(d) HCl < NaCl < NaCN < NH,ClI

Which of the following is the strongest acid
[AMU 1999; MH CET 1999, 2002]

(@) SO(OH), (b) SO,(OH),
() CIO4(0OH) (d) PO(OH),
The strongest of the four acids listed below is
[NCERT 1984]
(@ HCOOH (b) CH;COOH
() CICH,COCH (d) FCH,COOH

Which equilibrium can be described as an acid-base reaction using
the Lewis acid-base definition but not using the Bronsted-Lowry
definition [AIIMS 1980]

(@) 2NH, +H,S0, = 2NH} +S02"

!

(b) NH, +CHZ;COOH = NH, +CH,COO"
(9 H,0+CH,COOH = H,0" +CH,CO0"~
(d) [Cu(H,0), " +4NH, = [Cu(NH,),I** +4H,0

The hydride jon H™ is stronger base than its hydroxide ion OH ™.
Which of the following reaction will occur if sodium hydride

(NaH) is dissolved in water [CBSE PMT 1997]
(@ H(@y)+H,0->H,0

®b) H (@g+H,0(01)—»OH +H,
[KCET 2002]
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20.

21.

22.

23.

24.

25.

26.

27.

28.

(¢ H™ +H,0 — No reaction
(d) None of these

Dissociation constant of a weak acid is 1x107*. Equilibrium

constant of its reaction with strong base is [UPSEAT 2003]
@ 1x107* (b) 1x10%
(¢ 1x107° (d) 1x10"
Arrange the acids (1) H,SO05; () HPO and () HCIO in the
decreasing order of acidity [UPSEAT 2001]
@ 1sM>1 b) 15110
(@ M>>I ) M>1>1
Self-ionisation of liquid ammonia occurs as,

2NH; = NH;r +NH;3; K =107 In this solvent, an acid might
be [JIPMER 2001]

(@ NHZ
(b) NH,
(c) Any species that will form NH

(d) Al of these
AH{(H,0)=X; Heat of neutralisation of CH3;COOH and

NaOH will be [BHU 2003]
(@) Less than 2X (b) Less than X

() X (d) Between Xand 2X

Which of the following oxides will not give OHTin aqueous
solution [NCERT 1980]
(@ Fe,0q (b) MgO

(¢) Li,O d) K,O

A precipitate of CaF, (Ksp =1.7 ><10’1°) will be obtained when
equal volume of the following are mixed
[MP PMT 1990, 95; I'T 1982; MNR 1992]

(@ 10™*McCa®" and 10*MF~
(b) 10°MCa?" and 10°MF~
() 10°McCa? and 10°MF~
(d 10°MCa®*" and 10°MF~

The degree of hydrolysis of a salt of weak acid and weak base in its
0.1 M solution is found to be 50%. If the molarity of the solution is

0.2 M, the percentage hydrolysis of the salt should be [AMU 1999]
(@) 50% (b) 35%
() 75% (d) 100%

The PH of 0.1 M solution of a weak monoprotic acid 1% ionized is
[UPSEAT 2001; Pb. PMT 2001]

(@ 1 (b) 2
() 3 d) 4
Which one is the strongest acid
[MH CET 1999; AMU 1999,2000;
Pb.CET 2001,03; MP PET 2001]

(@ HCIO (b) HCIO,

(¢ H,SO, (d) HCIO,
Which of the following is Lewis acid  [Pb. CET 2000]
(@ s (b) :CH,

(¢ (CH 3)3 B (d) Al of these

29.

30.

3L

32.

33.

34.

35.

36.

37.

38.

The solubility product of Mg(OH), is 1.2x107™" . The solubility of
this compound in gram per 100 cm?® of solution is

[Roorkee 2000]
@) 1.4x10™ (b) 8.16x107*
() 0.816 d) 14
What is [H'] of a solution that is 0.01M in
0.02M in NaCN

HCN and

(K, for HCN =6.2x107?) [MP PMT 2000]

@ 3.1x10% (b) 6.2x10°

() 6.2x107%° d) 3.1x107%

Which is neucleophile [DPMT 2001; RPMT 2002]
(@) BR (b) NHy

() BeCl, (d) H,0

The solubility of CuBris 2x10“molflat 25°C. The K
value for CuB¥ is
() 4x10mol?™? (b) 4x10™mol?L?
() 4x10™*mol?~? (d) 4x10mol?I?
A 0.004 M solution of Na,SO, is isotonic with a 0.010 M solution

»
[ATIMS 2002]

of glucose at same temperature. The apparent degree of disociation
of Na,SO, is

[T JEE Screening 2004]
(@) 25% (b) 50%
() 75% (d) 85%
Ky for Cr(OH)zis 2.7 %1071 What is its solubility in moles /
litre. [JEE Orissa 2004]
() 1x107® (b) 8x1078
() 1.1x107® (d) 0.18x107®
pK, of acetic acid is 4.74 . The concentration of CH;COONa
is 0.01 M. The pH of CH;OONa is

[Orissa JEE 2004]

(@) 337 (b) 437
(©) 474 d) 0474
If the solubility product of AgBrQ, and AQ,SO, are

5.5x107° and 2x107° respectively, the relationship between the
solubilities of these can be correctly represented as  [EAMCET 1985]

@)  Sagero; > Sag,s0, (b) S agero; <Sag,s0,

(c) SAgBro3 = SA92504 (d) SAgBro3 ~ SA92504

The ionisation constant of phenol is higher than that of ethanol
because ['PMER 2002]
(@) Phenoxide ion is bulkier than ethanoxide

(b) Phenoxide ion is stronger base than ethanoxide

(c) Phenoxide ion is stabilised through delocalisation

(d) Phenoxide ion is less stable than ethoxide

A weak acid HX has the dissociation constant 1x107° M . 1t forms
a salt NaX on reaction with alkali. The degree of hydrolysis of 0.1 M
solution of NaXis

[NT JEE Screening 2004]
(@) 0.0001% (b) 0.01%
() 04% (d) 015%
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40.

41.

42.

43.

44.

45.

46.

In the equilibrium A~ +H,0 = HA+OH™ (K, =1.0x107°%).
The degree of hydrolysis of 0.001 M solution of the salt is [AMU 1999]

@) 107 (b) 107
() 107° (d 107°
The sulphide ion concentration [S 27]in saturated H,S solution is

1x107%. Which of the should  be
quantitatively precipitated by H,S in the presence of dil. HCI

sulphides

following

Sulphide Solubility Product

0) 1.4x107%

an 1.2x107%

() 8.2x107%

) 5.0x107*

@ 1L (b) m, v

© W,V (d) Only1

When equal volumes of the following solutions are mixed,

precipitation of AgCI(Kg, =1.8x107"°) will occur only with
[NIT 1988; CBSE PMT PMT 1992; DCE 2000]

(a) 10*M Ag® and 10*MCI~

(b) 10°M Ag* and 10°M CI~

() 10°M Ag* and 10°MCI™

(d 107°M Ag* and 107°MCI™

Kgp of an electrolyte AB is 1x107°, [A*]=10"°M, which

concentration of B~ will not give precipitate of AB
[BHU 2003]

1x107°
5x107°

(@) 5x10°° (b)
() 2x107° (d)

One litre of water contains 10~ mole hydrogen ions. The degree of
ionization in water will be [CPMT 1985, 88, 93]

(@) 1.8x107% (b) 0.8x107%%
() 3.6x107% (d 3.6x107%%
If the solubility products of AgCl and AgQBr are 1.2x107%

and 3.5x107" respectively, then the relation between the
solubilities (denoted by the symbol 'S") of these

salts can correctly be represented as

(@) S of AQBris less than that of AgCI

(b) S of AQBris greater than that of AgCI
(¢) S of AgBTr is equal to that of AQCI
d)

(

If the solubility product of lead iodide (Pbl,) is 3.2 x 1078, then
its solubility in moles/litre will be [MP PMT 1990]

@) 2x107° (b) 4x107*
() 1.6x107° (d 1.8x10°°
Calculate the solubility of AgCl(s) in 0.1M NaCl at 25°C.

[MP PET 1994]

S of AgBr is 108 times greater than that of AgCI

Ky (AgC =2.8x107% [UPSEAT 2001]
@ 3.0x10°ML*? (b) 2.5x107ML*
() 2.8x10°ML*? (d) 2.5x10"ML*

48.

49.

50.

51

52.

53.

54.

35.

56.

57.

58.
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The solubility product of a binary weak electrolyte is 4 x107Y 4

298 K . 1ts solubility in mol dm~ at the same temperature is [KCET 2001]

@) 4x107° (b) 2x107°
(c) 8x107%° (d) 16x10™%
Solubility of AgCl at 20°Cis 1.435x10~3gmperlitre. The

solubility product of AgCl is
[CPMT 1989; BHU 1997; AFMC 2000; CBSE PMT 2002]

() 1x107° (b) 1x107%°
() 1.435x107° (d) 108x107°
pK, value for acetic acid at the experimental temperature is 5. The

percentage hydrolysis of 0.1 M sodium acetate solution will be

(@) 1x10™ (b) 1x1072

() 1x1073 (d 1x107°

At 30°C, the solubility of Ag,CO4 (K, =8 x107) would
be greatest in one litre of [MP PMT 1990]
(a) 0.05M Na,CO, (b) 0.05M AgNO,

(c) Pure water (d) 0.05M NH,

The values of Ky for CUS, Ag,S and HQS are 107%,10%

and 107 respectively. The correct order of their solubility in
water is [MP PMT 2003]

(a) AgQ,S >HgS > CuS (b) HgS >CuS > Ag,S
() HgS > Ag,S >CuS (d) Ag,S >CuS > HgS

The pH of a soft drink is 3.82. Its hydrogen ion concentration will
be [MP PET 1990]

@) 1.96x1072 mol/I (b) 1.96x107% mol /I
1.96x10°* mol /I

The pH of a solution at 25°C containing 0.10m sodium acetate

() 1.5x10™* mol /I ()

and 0.03m acetic acid is (pK, for CH;COOH = 4.57) [ANMS 2002; BHU

(@) 4.09 (b) 5.09
(¢) 6.0 (d) 7.09
A weak acid is 0.1% ionised in 0.1 M solution. Its pH is
[BVP 2004]
(@ 2 (b) 3
(€ 4 R

The solubility product of AS,S; is 2.8 %1072, What is the
solubility of AS,S,

(a) 1.09x107* mole/litre
(b) 1.72x107* mole/litre
(

[Pb. CET 2003]

o) 2.3x107* mole/litre
(d) 1.65x107% mole/litre

For a weak acid HA with dissociation constant 107, pOH of

its 0.1 M solution is [CBSE PMT 1989]
(@ 9 (b) 3
(¢ m (d) 10

The dissociation of water at 25°C is 1.9x107% and the density

of water is 1.0g/cm % The ionisation constant of water is[NIT 1995]

() 3.42x10° (b) 3.42x107°®

(c) 1.00x107* (d) 2.00x107%
What is the pH of 0.01 M glycine solution? For glycine,

Ka, =4.5x10 2 and Ka, =1.7x10 % at 298 k
[ATIMS 2004]
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59.

60.

61.

62.

63.

64.

65.

66.

67.

(@) 3.0 (b) 10.0
() 61 (d) 7.2
The concentration of [H*] and concentration of [OH "] of a 0.1

aqueous solution of 2% ionised weak acid is

[lonic product of water =1 x 0™ ]

[DPMT 2004; CBSE PMT 1999]

(@) 2x 103 Mand 5x1072 M

(b) 1x10° Mand 3x10™"M

(6) 0.02x107° Mand 5x107 M

d) 3x10° Mand 4x10 M

If solubility product of HgSO, is 6.4 %107, then its solubility is
[BHU 2004]

@ 8x10mole/litre (b) 6.4x10°mole/litre

() 6.4x10°mole/litre  (d) 2.8x10°mole/litre
At 298K a 01 M CH3;COOH solution is 1.34% ionized. The
ionization constant K, for acetic acid will be

[AMU 2002; AFMC 2005]
18.2x107°

None of these

@) 1.82x10° (b)
(c) 0.182x107° ()

Hydrogen ion concentration of an aqueous solution is 1x107*M.
The solution is diluted with equal volume of water. Hydroxyl ion

68.

69.

70.

7.

72.

concentration of the resultant solution in terms of mo/ dm™ is [KCET 2001]

@ 1x107® (b) 1x107°
() 2x107%° (d) 0.5x107%

Which one of the following is not a buffer solution
[ANIMS 2003]

(@) 0.8MH,S +0.8MKHS

(b) 2MCgHzNH, + 2M C4H; NH, Br
(¢ 3MH,CO, +3MKHCO,
(d) 0.05M KCIO, +0.05M HCIO,

The hydrogen ion concentration of a

0.006 M benzoic acid

solution is (K, =6x107°) [MP PET 1994]
() 0.6x107* (b) 6x107*
() 6x107° (d 3.6x107*

Calculate the amount of (NH,),SO, in grams which must be
added to 500 m/ of 0.200M NH; to yield a solution with

pH =9.35 (K, for NH; =1.78 x10°) [UPSEAT 2001]
(@) 10.56 gm (b) 15 gm
(€) 12.74 gm (d) 16.25 gm

pH of a solution produced when an aqueous solution of PH 6 is

mixed with an equal volume of an aqueous solution of pH 3 is

about [KCET 2001]
(a) 33 (b) 43
(¢) 4.0 (d) a5

Calculate the H™ ion concentration in a 1.00 (M) HCN Jitre
solution (K, =4 ><10’1°)

a) 4x107* mole/litre

[Bihar CEE 1995]

b) 2x107° mole/litre

¢) 2.5x107°mole/litre
d) None of these

(
(
(
(

73.

74.

75.

76.

77.

The number of moles of hydroxide (OH™) ion in 0.3 /itre of 0.005

M solution of Ba(OH), is [JIPMER 2001]
(a) 0.0050 (b) 0.0030
(e) 0.0015 (d) o0.0075

The pH of pure water or neutral solution at 50°C is ..
(pK,, =13.26 =13.26 at 50°C)

[Pb. PMT 2002; DPMT 2002]
(@) 7.0 (b) 713
() 6.0 (d) 6.63
pH of 0.1 M solution of a weak acid (HA) is 4.50. It is neutralised
with  NaOH  solution to decrease the acid content to half pH of

the resulting solution [JIPMER 2002]

(@) 4.50 (b) 8.00

(c) 7.00 (d) 10.00

If 50ml of 0.2MKOH is added to 40ml of
0.5MHCOOH, the pH of the resulting solution is
(K, =1.8x107%) [MH CET 2000]
(@) 34 (b) 7.5

(¢) 56 (d) 375

The Bronsted acids in the reversible reaction are

HCO3(aq) + OH (ag) = CO2 (ag.) + H,0O [DPMT 2002]

(@@ OH™ and CO3~
(b) OH™ and H,0
(¢ HCOj3 and H,0O

(d) HCOj; and CO;~
A 0.N solution of an acid at room temperature has a degree of

ionisation 0.1. The concentration of OH™ would be [MH CET 1999]

@ 107%™ (b) 10%M™
() 10°M (d) 102%™
Increasing order of acidic character would be
(@@ CHZ;COOH <H,SO, <H,CO,4

(b) CHZ;COOH < H,CO; <H,SO,

(¢ H,CO; <CHZ;COOH <H,SO,

(d) H,SO, <H,CO; <CH;COOH

[RPMT 1999]

The correct order of increasing [H3O™] in the following aqueous
solutions is [UPSEAT 2000]

(@) 0.00 M HS <0.00 M HSO < 0.01 M NaCl

<0.00 M NaNO,
(b) 0.01 M NaCl<0.01 M NaNO< 0.00 M HS
< 0.0 M HSO
() 0.00 M NaNO <0.01 M NaCl< 0.00 M HS
<0.01 M HSO,
(d) 0.00 M HS < 0.01 M NaNO < 0.00 M NaCl
<0.00 M HSO

A base dissolved, in water, yields a solution with a hydroxyl ion

concentration of 0.05mol litre®. The solution is

[CBSE PMT 2000]
(a) Basic (b) Acid
() Neutral (d) Either (b) or (c)
In the given reaction, the oxide of sodium s

{ 4Na +0, - 2Na,O }
[Orissa JEE 2002]

Na,O + H,0 — 2NaOH
(@) Acidic (b) Basic

(c) Amphoteric (d) Neutral
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78.  What is the pH of a 1M CH;COOH a solution K, of acetic acid
=1.8x107.

K =10 mol?litre? [DPMT 2002]
(a) 9.4 (b) 4.8
(¢) 36 d) 24



